
146�  Oswaal CTET Year-wise Solved Papers

Paper-1 
31st Dec. 2021CTET Solved Paper 

Time: 2 hours 30 mins.� Total Marks: 150

Child Development and Pedagogy

1.	 Which one of the following statement is correct with 
respect to development of children?
(1)	 The domains of development are distinct and 

unrelated from one another.
(2)	 Different theories of child development agree 

on the same ideas regarding development of 
children.

(3)	 Development of children is influenced by their 
social context.

(4)	 Development is a smooth and continuous 
process for all children.

2.	 Which of the following is an example of fine motor 
skill for grade III students?
(1)	 Running with friends
(2)	 Putting beads in a thread
(3)	 Climbing steps in building
(4)	 Hopping like a rabbit

3.	 Which of the following traits are determined solely 
by heredity?
(i)	 Colour of eyes	 (ii)	 Intelligence
(iii)	 Moral development	 (iv)	 Social skills
(1)	 (i)	 (2)	 (ii)
(3)	 (i), (ii)	 (4)	 (i), (ii), (iii)

4.	 Schools teach new behaviours and rules to children 
and expect them to act accordingly. The school is 
acting as an agency of ............... socialisation.
(1)	 primary	 (2)	 constructive
(3)	 secondary	 (4)	 analytic

5.	 According to Lawrence Kohlberg, at which level of 
moral development does the child display “good 
boy- good girl” orientation? 
(1)	 Pre Conventional Level
(2)	 Conventional level
(3)	 Level of heteronomous morality
(4)	 Level of morality of cooperation

6.	 Sita’s ability to modify her actions of riding a scooter 
based on her experiences of riding a bicycle would 
be an example of
(1)	 Assimilation	 (2)	 Equilibrium
(3)	 Accommodation	 (4)	 Disequilibrium

7.	 In ............... stage children start using semiotic 
functions rapidly develop language skills?
(1)	 Formal Operational	 (2)	 Concrete Operational
(3)	 Preoperational	 (4)	 Sensori-motor

8.	 In ............... a teacher and 2-4 students form a 
collaboration group and take turns leading dialogues 
on the content of a text passage.
(1)	 Reciprocal teaching
(2)	 Scaffolding
(3)	 Discovery learning
(4)	 Programmed Instruction

9.	 Which of the following technique has been 
proposed by Lev Vygotsky for teaching primary 
school children?
(1)	 Instructional scaffolding
(2)	 Reinforcement
(3)	 Equilibration
(4)	 Programmed learning

10.	 In the context of progressive education, which of the 
following statements is correct?
(1)	 Students with low ability should be ignored in 

the class.
(2)	 There should be no place for democracy in a 

classroom.
(3)	 Student should be encouraged to become 

problem-solvers.
(4)	 The classrooms should be primarily textbook - 

centric and all the rules should the dictated by 
the teacher.

11.	 According to Howard Gardner, the ability to 
detect and respond appropriately to the moods, 
temperament and Intentions of others is known as:
(1)	 Linguistic intelligence
(2)	 Bodily-Kinesthetic intelligence
(3)	 Inter personal intelligence
(4)	 Intra personal intelligence

12.	 Which of the following is reflected in the statement 
of a father to his son, “Don’t cry like a girl, you are a 
boy”?
(1)	 Gender identity	 (2)	 Gender stereotype
(3)	 Gender constancy	 (4)	 Gender equality

13.	 Which of the following statements about continuous 
and comprehensive evaluation is NOT correct?
(1)	 It is an easy way for the teachers to test learners 

frequently.
(2)	 It is the latest development in the teaching 

learning process.
(3)	 It creates interest among the learners for studies.
(4)	 Conventional paper pen tests do not assess all 

the attributes and abilities of learners.
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14.	 Assertion (A): A teacher should understand the 
social, cultural, religions and linguistic diversity of 
the classroom

	 Reason (R): Learners in Classroom comprise a 
homogeneous group.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

15.	 Priyanka uses ‘VIBGYOR’ to make the students 
learn the sequence of 7 colours in a rainbow. This 
strategy for memorising the sequence of colours is 
called:
(1)	 means end analysis.	 (2)	 mnemonics.
(3)	 distributed practice.	 (4)	 goal directed strategy.

16.	 Which of the following is a correctly matched pair?
(1)	 Creativity - Convergent thinking
(2)	 Dyslexia - Difficulty in reading text
(3)	 Intelligence - A unitary trait
(4)	 Inclusion - education for learners with disability 

in special schools.
17.	 Which of the following strategies are effective for 

successful implementation inclusion of students 
with learning disabilities?
(i)	 Use of multiple means of representations of 

content
(ii)	 Promoting individualized educational planning 

as per needs of students
(iii)	 Promoting outcome-oriented goals instead of 

process - oriented learning
(iv)	 Setting up same standards for all students and 

ignoring the diversity in class
(1)	 (i), (iii), (iv)	 (2)	 (i), (iii)
(3)	 (i), (ii)	 (4)	 (i), (ii), (iv)

18.	 A student of your class faces problems in expressing 
views and often switches between school 
mainstream language and the dialect spoken in his/
her hometown. As a teacher , you must:
(1)	 emphasize the purity of language usage.
(2)	 recommend the child to a special school.
(3)	 introduce similar word-meanings in the target 

language gradually.
(4)	 rebuke student for mixing languages.

19.	 In an inclusive classroom,
(1)	 students with special needs are expected to 

adapt to the general curriculum that is followed 
for everyone.

(2)	 students with special needs learn outside of the 
system of mainstream education with content 
designed separately for them.

(3)	 students with special needs are always placed 
separately in a special classroom along with a 
special educator.

(4)	 students with special needs learn within the 
system of mainstream education and there is 
a commitment to remove all barriers for full 
participation of everyone.

20.	 Saurabh shows the following characteristics in the 
inclusive classroom
(a)	 Holds books very close or very far from him 

while reading.
(b)	 Blinks often and close one eye or has redness in 

eye.
(c)	 May misread material on the chalkboard.

	 These are an indication of:
(1)	 Cerebral palsy	 (2)	 Visual impairment
(3)	 Dyslexia	 (4)	 Dysarthria

21.	 Which of the following features is NOT prescribed 
in the National Education Policy 2020?
(1)	 It is important to identify and foster the unique 

capabilities of each student.
(2)	 Emphasis should be placed on conceptual 

understanding rather than rote learning and 
learning - for- exams.

(3)	 There should be due focus on creativity and 
critical thinking to encourage logical decision - 
making and innovation.

(4)	 Teachers should focus on use of rewards and 
punishment to promote compliance in children.

22.	 The curriculum in schools should follow the 
curriculum principle of moving from ............... to 
............... and from ............... to ............... .
(1)	 abstract, concrete; local, global
(2)	 concrete, abstract; global, local
(3)	 concrete, abstract; local, global
(4)	 abstract, concrete; global, local

23.	 A teacher encourages her students to identify and 
recognise meaningful words such as ‘pen’, ‘tiger’, 
‘water’, to initiate reading. Which principle of 
learning is this pedagogy situated in?
(1)	 Operant conditioning
(2)	 Classical conditioning
(3)	 Reductionism
(4)	 Constructivism

24.	 Conceptual changes in children’s thinking should 
be encouraged by:
(1)	 the use of punishment.
(2)	 giving multiple examples and encouraging 

children to reason.
(3)	 asking children to memorize the ‘correct 

concepts’.
(4)	 repeated drill and practice.

25.	 A student in your class feels anxious and concerned 
about the competitive environment. As a teacher 
you feel:
(a)	 High academic anxiety keeps people motivated 

and responsible and helps in having a more 
sustainable and prosperous life.

(b)	 Increased apprehension and uneasiness of the 
students can also be accompanied by emotional 
fear which might interfere with students’ 
concentration power and memory.

(1)	 (a) is incorrect but (b) is correct
(2)	 Both (a) & (b) are incorrect
(3)	 (a) is correct but (b) is incorrect
(4)	 Both (a) & (b) are correct
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26.	 Children belonging to scheduled caste and 
scheduled tribes, first generation school goers, girls 
and children with disabilities are at a/an ............... in 
terms of access to education.
(1)	 disadvantaged position
(2)	 advantage
(3)	 equal platform
(4)	 privileged position

27.	 Assertion (A): Learning in schools should be 
detached from the social context of children.

	 Reason (R): Before children enter school, they 
already have a well-defined vocabulary and an 
understand of concept.

	 Select the correct option from the given alternatives.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

28.	 A student feels that she would not be able to achieve 
success on a test and will never be able to improve 
her performance. Such beliefs about ability:
(1)	 increases the students’ motivation to learn.
(2)	 does not affect the students’ motivation in any 

manner.
(3)	 makes the student feel a sense of giving up on 

the task and experiencing ‘learned helplessness’.
(4)	 helps the student relax.

29.	 Which of the following strategy by teacher is most 
effective in keeping students continually motivated 
to learn:
(1)	 inculcating incremental belief about ability 

among students.
(2)	 frequent distribution of rewards and inculcation 

of competition among students.
(3)	 attributing uncontrollable factors to failure.
(4)	 promoting performance oriented goals among 

students.
30.	 Errors made by children are indicative of:

(1)	 poor intelligence.
(2)	 low ability.
(3)	 their inability to reproduce knowledge.
(4)	 children’s thinking process which is qualitatively 

different from that of adults.

Mathematics

31.	 Ratiram is a milk seller in the city. He sells 10 litres 
of milk every day at `45 per litre, but every week 
he has to pay `50 as a tax to municipal corporation. 
How much money does Ratiram earn in September 
2021?
(1)	 `13250	 (2)	 `13500
(3)	 `13450	 (4)	 `13400

32.	 James took loan of `500.00 from a local money lender 
and Kabeer took the same amount form cooperative 
society. James paid `11.00 every day for 55 days to 
repay the loan. Kabeer paid `600.00 to bank after 55 
days. Both the loans were closed by 55 days. Who 
has paid more amount and by how much?
(1)	 Kabeer; `5.00 more than that of James.
(2)	 James; `5.00 more than that of Kabeer.
(3)	 Kabeer; `10.00 more than that of James.
(4)	 Both of them paid equal amount

33.	 In a mini bus a maximum of 15 students can sit and 
three times of that can sit in a big bus. 112 students 
want to go for a trip such that each student should 
occupy exactly one seat. What is the minimum 
number of vehicles they require?
(1)	 2 mini buses and 2 big buses
(2)	 1 mini bus and 2 big buses
(3)	 3 mini buses and 1 big bus
(4)	 4 mini buses and 1 big bus

34.	 A positive integer is called a perfect number if it 
is equal to the sum of all its divisors, except the 
number itself. Which of the following is not a perfect 
number?
(1)	 6	 (2)	 48
(3)	 28	 (4)	 496

35.	 Consider the following statements:
(i)	 One metre is one-hundredth of one kilometre.
(ii)	 One lakh is equal to one hundred thousand.
(iii)	 One millilitre is one-hundredth of one litre.
(iv)	 One crore is equal to one hundred lakh.

	 Which of the above statements are correct.
(1)	 (i) and (iv)	 (2)	 (ii) and (iv)
(3)	 (ii) and (iii)	 (4)	 (iii) and (iv)

36.	 I am a 5 digit number and divisible by 5 but not by 
10. Digits at my tens and thousands place are the 
second and third prime numbers respectively. The 
digit at hundreds place is an even prime number 
and ten thousands place is it’s half. Who I am?
(1)	 27155	 (2)	 17255
(3)	 15235	 (4)	 21355

37.	 Which of the following set of fractions on adding 
will result to 1?

(1)	 	 (2)	

(3)	 	 (4)	
38.	 Which one of the following is NOT a correct 

statement?
(1)	 All squares are rectangles.
(2)	 All parallelograms are squares.
(3)	 All squares are rhombus.
(4)	 All rectangles are parallelograms.

39.	 Which of the following three-digit numbers look the 
same of half a turn?
(1)	 696	 (2)	 881
(3)	 444	 (4)	 808

40.	 The side of a cube is 5 cm. How many times will the 
new surface area become if the side of the cube is 
doubled?
(1)	 2 times	 (2)	 3 times
(3)	 4 times	 (4)	 6 times

41.	 The side of a square is 33 cm. The length and 
breadth of a rectangle are two-third and one-third 
of the side of the square respectively. The difference 
of their areas (in square cm) is—
(1)	 748 cm2	 (2)	 847 cm2

(3)	 1331 cm2	 (4)	 857 cm2

42.	 Naresh started his journey at 11:20 am on June 30 
and finished at 5:40 pm on July 1. The time taken in 
completing the journey is—
(1)	 30 hours 20 minutes	 (2)	 54 hours 20 minutes
(3)	 5 hours 40 minutes	 (4)	 29 hours 40 minutes
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43.	 Class 3 students wrote secret messages in the class. 
Today they wrote opposite words using secret 
messages. Teacher represented BLACK as AKZBJ. 
Which of the following is the correct opposite of the 
given word in secret message?
(1)	 UGJTF	 (2)	 VGHSD
(3)	 XIJUF	 (4)	 XGJSF

44.	 Athira wants to purchase half a dozen eggs, half kg 
rice, 250 gms of salt and 1 match box. The following 
are the price list in the shop.

Item Price
Egg 		  `4.00 each
Match box 		  `3.00 each
Rice 		  `32.00 per kg
Salt 		  `16.00 per kg

	 If she has `45.50 with her, then
(1)	 She has to add `1.50 to purchase all the items
(2)	 She will get `2.00 balance with her
(3)	 She has exact amount required
(4)	 She will have enough amount to purchase 

500 gms of salt, along with the other items in the 
list.

45.	 Rekha bought a cake on her birthday. She invited 
her five friends but two of them couldn’t join earlier. 
She cut the cake into two halves and kept one half 
for herself and gave the rest to her friends. Later 
two of her friends also arrived. She got happy to see 
them and divided her part into three equal pieces. 
How much part of the original cake she could eat?

(1)
	 	

(2)
	 	

(3)
	 	

(4)
	

46.	 Which of the following is NOT one of the principles 
of the Dienes theory?
(1)	 Constructivity Principle
(2)	 Dynamic Principle
(3)	 Reversibility Principle
(4)	 Mathematical Variability Principle

47.	 Number, according to Piaget, is a synthesis of two 
kinds of relationships the child creates among 
objects. They are:
(1)	 Order and Hierarchical inclusion
(2)	 Order and Reversibility
(3)	 Seriation and Hierarchical inclusion
(4)	 Seriation and Conservation

48.	 Students often make a mistake in comparing the 
decimal numbers. For example 0.50 is greater than 
0.5. The most probable reason for this error is—
(1)	 Overgeneralization of whole number facts to 

decimal numbers
(2)	 Lack of practice of comparison of numbers
(3)	 Lack of representation of decimal numbers on a 

number line
(4)	 It is a careless mistake by the students

49.	 Which of the following representes a National 
initiative taken by the Ministry of Education in 2011 
to ensure that every child in the country attains 
foundational literacy and numeracy?
(1)	 SAMAGRA SHIKSHA	 (2)	 SAKSHAR BHARAT
(3)	 NIPUN BHARAT	 (4)	 SAKSHAM BHARAT

50.	 Which of the following statements is true for peer 
assessment?
(1)	 It includes assessing students and providing 

feedback to the work of their peers
(2)	 It cannot be done in pairs or groups

(3)	 It is a tool of summative assessment
(4)	 It refers to child’s own assessment of learning, 

interests and attitudes
51.	 To introduce the angle sum property (the sum of 

interior angles of a triangle is 180°), the teacher 
provided cut-outs of different types of triangles 
to the students. She tells the students to measure 
interior angles of each triangle: the students 
concluded that sum of interior angles of any given 
triangle is 180° irrespective of the size or shape of 
the triangle. The activity is an example of ............... .
(1)	 Demonstration method
(2)	 Inductive method
(3)	 Deductive method
(4)	 Analysis method

52.	 Neha was solving a problem in which subtraction of 
673 – 257 was required. She said, “257 plus 100 will 
be 357, 457, 557, 657. So, 257 plus 400 is 657”. “Now 
657 plus 10 is 667, 677, so, 657 plus 20 is 677 and 4 
less in 677 is 673.

	 “Therefore, 400 plus 20 minus 4 is 416”. Hence 
673 – 257 is 416.

	 Which of the following statements is most 
appropriate for the strategy of Neha?
(1)	 It shows Neha is able to use her conceptual 

understanding of addition and subtraction in 
developing her own personal algorithm.

(2)	 Neha does not know formal algorithm of 
subtraction.

(3)	 Neha is unnecessarily mixing the concept of 
addition in solving a problem on subtraction.

(4)	 It is an infromal strategy hence cannot used in 
written tests.

53.	 Which one of the following is a feature of a 
constructivist mathematics classroom?
(1)	 Children copying answers from the black board
(2)	 Children reciting the multiplication tables in the 

form of rhymes
(3)	 Children are engaged in meaningful activities
(4)	 Teacher explaining the procedure to solve a 

given problem
54.	 Which of the following activities is meant to enhance 

problem-solving abilities among the students of 
class-III?
(1)	 A crossword puzzle containing clues for all key 

terms learnt like even number, odd number, 
composite number, prime number, etc.

(2)	 An activity involving students working in 
groups and exploring the various dimensions of 
two digit multiplication.

(3)	 Conducting an intra-class quiz on ‘numbers’ and  
‘operations’.

(4)	 A worksheet based on solving problems on four 
basic operations using formal algorithms.

55.	 Which of the following is a desirable feature of a 
good mathematical question?
(1)	 The question should require more than the recall 

or replication of a fact or procedure.
(2)	 The question should always be closed ended 

as it is easier for the teacher to evaluate the 
notebooks of students.

(3)	 The question should be devoid of all contextual 
situations.

(4)	 The question should be similar to what is being 
given in the textbook.
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56.	 Children at primary stage are able to classify the 
given shapes based on their appearance. They are 
at which level, according to Van Hiele’s levels of 
geometric reasoning?
(1)	 Analysis level	 (2)	 Visualisation level
(3)	 Relationship level	 (4)	 Axiomatic level

57.	 A student solves the addition problem in the 
following way:

	 	
	 Which one of the following statements represents 

correct remedial technique for the error made by the 
student?
(1)	 Repeat the same question multiple times
(2)	 Give the correct answer to the student
(3)	 Strengthen the concept of place value using 

Deines blocks
(4)	 Give similar type of problems to practice

58.	 A primary mathematics teacher asked the students 
to take out a ‘Ruler’ as he/she was going to teach 
the topic on length measurement. After listening to 
this term students got confused how can they take 
out a king or queen. Mathematics teachers often 
face such situation in the classroom. The ambiguity 
in terminology arose because the word ‘Ruler’ is an 
example of
(1)	 Homophones	 (2)	 Homonyms
(3)	 Polysemy	 (4)	 Prepositions

59.	 Which two numbers when divided will given the 
quotient 4? Such questions:
(1)	 Develop metacognitive skills.
(2)	 Being open-ended; encourage divergent 

thinking.
(3)	 Are discouraged as they produce many answers.
(4)	 Cannot be solved by children at primary level.

60.	 ‘Mathematics for All’ is one of the vision statements 
of National Curriculum Framework (2005). Which 
of the following statements most appropriately 
represents this vision statement?
(1)	 Mathematics teaching and learning should be 

free from gender bias.
(2)	 Mathematics teaching and learning should 

be free from gender, caste and ability based 
discriminations.

(3)	 Mathematics textbooks should be made available 
free of cost to students.

(4)	 �Mathematics should be taught as a compulsory 
subject upto class XII.

Environmental Studies
61.	 Whole Moong or Chana seeds are dipped overnight 

in water and left for a / two. The part of the sprout 
which develops first is
(1)	 Stem	 (2)	 leaf
(3)	 root	 (4)	 fruit

62.	 Test for the presence of starch with dilute Iodine 
solution gives which of the following colour.
(1)	 Blue-black	 (2)	 Blue-violet
(3)	 Blue-orange	 (4)	 Blue-green

63.	 Beriberi disease / disorder is caused by deficiency of 
which of the following Vitamins.
(1)	 Vitamin B12	 (2)	 Vitamin B2
(3)	 Vitamin B1	 (4)	 Vitamin B3

64.	 Jute fiber is obtained from which part of the Jute 
plant.
(1)	 Seed	 (2)	 Leaf
(3)	 Flower	 (4)	 Stem

65.	 Which of the following is NOT a root?
(1)	 Radish	 (2)	 Sweet Potato
(3)	 Tapioca	 (4)	 Potato

66.	 Which of the following is a Parasitic plant?
(1)	 Peepal	 (2)	 Cuscuta
(3)	 Grapes	 (4)	 Money Plant

67.	 In which of the following plants, seeds are dispersed 
by animals?
(1)	 Drumstick	 (2)	 Maple
(3)	 Calotropis	 (4)	 Mango

68.	 Which of the following is referred to as ‘cotyledons’?
(1)	 Seed coat	 (2)	 Embryo
(3)	 Seed leaves	 (4)	 Micropyle

69.	 Which of the following plants do NOT form Root 
Nodules having Nitrogen fixing bacteria in it
(1)	 Sweet pea	 (2)	 Garden pea
(3)	 Tulsi	 (4)	 Groundnuts

70.	 The arrangement of veins and the veinlets in the 
leaf is termed as:
(1)	 Lamina	 (2)	 Venation
(3)	 Midrib	 (4)	 Petiole

71.	 Which of the following is NOT Fossil Fuel?
(1)	 Coal	 (2)	 Wood
(3)	 Petroleum	 (4)	 Natural Gas

72.	 Which of the following is conventional source of 
energy?
(1)	 Solar Energy	 (2)	 Tidal Energy
(3)	 Geothermal Energy	 (4)	 Fossil Fuels

73.	 Loss of water in the form of vapor from the aerial 
parts of the plant is called:
(1)	 Photosynthesis	 (2)	 Growth
(3)	 Respiration	 (4)	 Transpiration

74.	 Himalaya May Apple, a medical plant is only found 
in higher altitude regions. This plant is categorized 
as:
(1)	 Exotic	 (2)	 Abundant
(3)	 Endemic	 (4)	 Endangered

75.	 The planet which is smaller than earth in our solar 
system is
(1)	 Mars	 (2)	 Jupiter
(3)	 Mercury	 (4)	 Saturn

76.	 As per NCF 2005, which of the following should be 
the objective of EVS at primary level?
(1)	 To critically address gender concerns and issues 

of marginalisation.
(2)	 To develop the memorisation skill of the child.
(3)	 To emphasise the importance of description in 

learning of EVS at primary level.
(4)	 To recognise and recall the environmental issues 

of primary concerns.
77.	 Which of the following favours the integrated nature 

of EVS at primary level?
(A)	concepts & issues of science, social science and 

environment education are integrated.
(B)	the child looks his/her environment in a holistic 

manner.
(C)	It is theme based.
(D)	It includes topics & subtopics of science and 

social science.
(1)	 A and B Only	 (2)	 A, B and C
(3)	 B and C Only	 (4)	 B, C and D
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78.	 Which of the following is true in relation to the EVS 
learning.
(A)	learning through experience.
(B)	Learning from concrete to abstract.
(C)	Known to unknown.
(D)	Contextual nature of EVS.
(1)	 A, B, C and D	 (2)	 B, C, and D
(3)	 C and D Only	 (4)	 D Only

79.	 Which of the following is the theme of EVS syllabus?
(1)	 Work and Play
(2)	 Things we make and do
(3)	 Animals
(4)	 Plants

80.	 ‘Sunita in space’ of EVS textbook of NCERT is based 
on:
(1)	 Everyday challenges
(2)	 Real life incidents
(3)	 Real people and their experiences
(4)	 Real places

81.	 Which of the following can be the appropriate 
suggested resources for addressing the issue of 
spoilage and wastages of food?
(1)	 Sharing family experiences and interaction with 

a person involved with food preservation.
(2)	 Audio-Video for the issue.
(3)	 lecture and discussion.
(4)	 Think, ink, pair and share.

82.	 In EVS, a teacher can induct ‘cleanliness’ drive in 
school under:
(1)	 Project work	 (2)	 Assignment
(3)	 Field visit	 (4)	 Experiment

83.	 In Chapter 15 of NCERT of EVS class V ‘Blow hot, 
blow cold’ an interesting story by Dr. Zakir Hussain 
was used . The major objective of this story is to 
develop the:
(1)	 concept of water cycle.
(2)	 Condensate in process.
(3)	 understanding of the process of breathing at 

primary level.
(4)	 interest of students.

84.	 The most appropriate objective of conducting 
formative assessment in the learning of EVS is to
(1)	 address the quantitative & qualitative progress of 

the students.
(2)	 assess the students subject wise progress.
(3)	 give them marks and position.
(4)	 promote the students to next grade.

85.	 A teacher of EVS always keeps a small diary and 
pen with him and observes day to day significant & 
interesting behaviour of his students. Teacher is using
(1)	 Anecdotal tool	 (2)	 Portfolio
(3)	 Rating Scale	 (4)	 Check list

86.	 Which of the following can be the indicator/s for 
assessment in EVS?
(A)	observation	 (B)	Cooperation
(C)	Remember	 (D)	Recall
(1)	 A & B only	 (2)	 A, C & D only
(3)	 B, C and D only	 (4)	 C and D only

87.	 The real challenge for an EVS teacher in his classroom 
is:
(1)	 giving information to students.
(2)	 providing worksheets to students.

(3)	 providing opportunities to students for their 
learning.

(4)	 giving home assignment.
88.	 Which one is the effective resource for learning of 

EVS?
(1)	 Poems & stories
(2)	 Textbook of environmental education
(3)	 Worksheet
(4)	 Visuals

89.	 Which one can be the important resource other than 
EVS textbooks?
(1)	 members of the community.
(2)	 reading materials.
(3)	 science lab.
(4)	 map of the world.

90.	 Which of the following assessment will be enjoyed 
by the students in an EVS class?
(1)	 Assessment through portfolio.
(2)	 Paper pencil test.
(3)	 Oral questions.
(4)	 Sharing of feedback of paper pencil test.

Language: Hindi

funsZ'k (91-99): uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds lcls 
mi;qä mÙkj okys fodYi pqfu,µ

eSa vDlj lksprk gw¡ fd os 'kgj fdrus nqHkkZxs gSa] ftuds vius dksbZ 
[k.Mgj gh ughaA muesa jguk mruk gh Hk;kud vuqHko gks ldrk gS] 
tSlh fdlh ,sls O;fDr ls feyuk] tks viuh Le`fr [kks pqdk gS] ftldk 
dksbZ vrhr ughaA vxj eq>ls dksbZ ujd dh ifjHkk"kk iwNs rks og gS] 
ges'kk orZeku esa jguk ,d varghu jks'kuh] tgk¡ dksbZ Nk;k ugha] tgk¡ 
vkneh ges'kk vk¡[ksa [kksys jgrk gSA
tc orZeku dk cks> vlá gks] eSa viuk ?kj NksM+dj 'kgj ds nwljs 
^?kjksa* esa pyk tkrk gw¡µ tgk¡ vc dksbZ yksx ugha jgrsµ tgk¡ v¡èksjk 
gksrs gh pexknM+ vkrs gSaA ;s gekjs 'kgj esa [k.Mgj gSaµ 'kgj dh 
Le`fr;k¡ vkSj LoIuA ,d ,slk Hkh ;qx Fkk] tc u 'kgj Fks u [k.Mgjµ 
vkneh viuk vrhr [kqn vius Hkhrj ysdj pyrk FkkA ;k ;w¡ dgsa fd 
Le`fr vHkh rd bfrgkl ugha cuh FkhA
91.	 ^ftuds vius dksbZ [k.Mgj ugha* js[kkafdr 'kCn ls vk'k; gSaµ

(1)	 bfrgkl	 (2)	 orZeku
(3)	 vfLrRo	 (4)	 Hkfo";

92.	 ^'kgj ds nwljs ?kjksa esa pyk tkrk gw¡A* ^nwljs ?kjksa* ls ys[kd dk 
vk'k; gSµ
(1)	 fe=ksa ds ?kj	 (2)	 ,sfrgkfld bekjrsa
(3)	 vLFkk;h fuokl	 (4)	 'kgj dh lM+dsa

93.	 ys[kd ds vuqlkj dkSu&ls 'kgj nqHkkZxs gSa\
(1)	 ftudk viuk dksbZ uke ughaA	
(2)	 tgk¡ yksx ugha jgrs gSaA
(3)	 ftudh viuh dksbZ Le`fr;k¡ ughaA	
(4)	 ftuds orZeku ij dksbZ ladV gksA

94.	 ys[kd ds vuqlkj ^ujd* dh ifjHkk"kk D;k gSµ
(1)	 lnSo LoIu ns[kuk	 (2)	 lnSo orZeku esa jguk
(3)	 lnSo vius ?kj esa jguk	 (4)	 lnSo vk¡[ksa [kksys jguk

95.	 ^orZeku esa jgus* ls D;k vk'k; gS\
(1)	 vius iwoZtksa dks ;kn u djukA
(2)	 Hkfo"; dh fpark u djukA
(3)	 ,sfrgkfldrk dk vuqHko u djukA
(4)	 fnu çfrfnu dh t:jrksa dks iwjk djukA
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96.	 ^tgk¡ vkneh ges'kk vk¡[ksa [kksys jgrk gSA* okD; ds ekè;e ls fdl 
vksj ladsr djrk gS\
(1)	 nsj rd foJke djus	 (2)	 nsj rd O;k;ke djus
(3)	 jkr esa Hkh txus	 (4)	 jkr esa xgjh uhan lksus

97.	 lgh 'kCn pqfu,µ
	 ^tgk¡ --------- gksrs gh pexknM+ vkrs gSaA*

(1)	 çdk'k	 (2)	 ,dkUr
(3)	 v¡èkdkj	 (4)	 'kkfUr

98.	 dkSu&lk 'kCn fHkUu gSa\
(1)	 Hk;kud	 (2)	 Hkqtax
(3)	 Hk;adj	 (4)	 Hkkoqd

99.	 os 'kgj fdrus ----------- gSa\
	 okD; esa fjDr LFkku ds fy, mfpr 'kCn gSaµ

(1)	 nqHkkZX;	 (2)	 nqHkkZX;iw.kZ
(3)	 nq[kn	 (4)	 Hkkx;iw.kZ

funsZ'k (100-105): uhps fn, x, in dks i<+dj iwNs x, ç'uksa ds lcls 
mi;qDr mÙkj okys fodYi dks pqfu,µ

eksdks dgk¡ <w¡<s js c¡ns]
eSa rks rsjs ikl esaA
uk eSa nsoy u eSa elftn] uk dkcs dSykl esaA
uk dks dkSuks & fØ;k&dje esa] ukfg tksx cSjkx esaA
[kksth gks; rks rqjrS fefygkSa] iy Hkj dh rkykl esaA
dgS dchj lquks HkkbZ lkèkks] lc Lok¡lksa dh Lok¡l esaA
100.	^eSa rks rsjs ikl esa* js[kkafdr 'kCn fdlds fy, ç;qDr gqvk gS\

(1)	 euq";	 (2)	 dfo Lo;a
(3)	 èkkfeZd LFky	 (4)	 bZ'oj

101.	dfo ds vuqlkj bZ'oj dks èkkfeZd LFkyksa esa ugha ik;k tk ldrk] 
D;ksafd og fuokl djrk gSaµ
(1)	 çR;sd çk.kh esa	 (2)	 deZdkaMksa esa
(3)	 rhFkZLFkyksa esa	 (4)	 ;ksx&oSjkX; esa

102.	dfo ds vuqlkj bZ'oj rqjar fdls fey ldrk gSa\
(1)	 çR;sd fo}ku dksA
(2)	 lTtu yksxksa dksA
(3)	 lefiZr HkDr dksA
(4)	 eksg&ek;k R;kxus okys dksA

103.	^<w¡<s* 'kCn gSaµ
(1)	 fØ;k fo'ks"k.k	 (2)	 fØ;k
(3)	 laKk	 (4)	 fo'ks"k.k

104.	^lc Lok¡lksa dh Lok¡l esaA* dk vk'k; gSµ
(1)	 bZ'oj loZO;kih gSA	
(2)	 lcdks 'okl ysrs jguk pkfg,A
(3)	 bZ'oj 'okl esa fuokl djrk gSA	
(4)	 bZ'oj rhFkkZVu ls feyrk gSA

105.	^dkSuksa* dk vFkZ gSµ
(1)	 fdlh Hkh	 (2)	 dksbZ Hkh
(3)	 dHkh Hkh	 (4)	 dgha Hkh

106.	ekuo efLr"d esa lkoZHkkSfed O;kdj.k fu;eksa ds ,d lewg ds :i 
esa gksrh gSA ;g fopkj fdlus çfrikfnr fd;k gS\
(1)	 ch-,Q- fLduj	 (2)	 okV~lu
(3)	 yso ok;xksRLdh	 (4)	 ukWe pkWeLdh

107.	fuEufyf[kr esa ls fodkl dk fudVLFk {ks= dgrs gSaµ
(1)	 efLr"d dk og Hkkx tks Hkk"kk;h fodkl ds lkFk dk;Z djrk 

gSA	
(2)	 cPps ds okLrfod fodkl rFkk fdlh nwljs dh lgk;rk ls 

dj ldus okys dke ds chp dk vUrjA
(3)	 Hkk"kk esa çokg tks cPps fd'kksjkoLFkk esa igq¡pus ij vftZr 

djrs gSaA	
(4)	 nks cPpksa ds chp esa Hkk"kk vtZu dh fuiq.krk esa varjA

108.	cPpksa dh ekSf[kd Hkk"kk dks fodflr djus esa lgk;rk djus ds 
fy, muls ckrphr djuk ---------- dk ,d egÙoiw.kZ ?kVd gSA
(1)	 çfØ;k ys[ku mikxe	 (2)	 xgu iBu
(3)	 mRikn ys[ku mikxe	 (4)	 çkjafHkd lk{kjrk

109.	fuEufyf[kr esa ls dkSu&lh 'kCn lEink fuekZ.k dh j.kuhfr ugha 
gS\
(1)	 lanHkZ esa 'kCnksa dks ifjHkkf"kr djukA
(2)	 o.kks± dh :ijs[kk cukukA
(3)	 'kCn ds Hkkxksa dk fo'ys"k.k djukA
(4)	 lac¼rk LFkkfir djukA

110.	ys[ku ---------- gSA
(1)	 ,d mRiknd dkS'ky	 (2)	 fof'k"V foèkk rd lhfer
(3)	 ,d xzg.k'khy dkS'ky	 (4)	 ,d js[kh; çfØ;k

111.	fuEufyf[kr esa ls dkSu&lk d{kk esa ^eqfær@fyf[kr le`¼ ifjos'k* 
ds fuekZ.k esa lgk;rk ugha djrk gS\
(1)	 nhokjksa ij dgkfu;ksa ds pkVZ yxkukA
(2)	 d{kk esa iBu&dksuk l`ftr djukA
(3)	 d{kk esa fo|kfFkZ;ksa dh jpuk,¡ çnf'kZr djukA
(4)	 d{kk esa f[kykSuksa dk dksuk cukukA

112.	Hkk"kk vfèkxe esa ^cksèkxE; fuos'k* dk D;k vFkZ gS\
(1)	 cPpksa dks ,sls Hkk"kk;h volj miyCèk djkuk tks mudh Hkk"kk 

ls ,d Lrj Åij gSaA	
(2)	 cPpksa dks y{; Hkk"kk ds vfèkdre volj miyCèk djkukA
(3)	 dgkuh lqukus ds ekè;e ls Hkk"kk vfèkxe dks jkspd 

cukukA	
(4)	 d{kk dh nhokjksa ij cPps dh jpuk,¡ çnf'kZr djukA

113.	fuEufyf[kr dFkuksa dks if<+, rFkk lexz Hkk"kk mikxe ds lanHkZ esa 
lgh dks pqfu,µ
(a)	 lexz Hkk"kk mikxe cPps dh cukbZ ofrZfu;ksa ds ç;ksx dks 

çksRlkfgr djrk gSA
(b)	 lexz Hkk"kk mikxe esa cPps i<+uk lh[kus ds fy, o.kZ rFkk  

èofu;ksa ls vkjEHk djrs gSaA
(c)	 lexz Hkk"kk mikxe jpukokn ij vkèkkfjr gSA
(1)	 a rFkk b lgh gSa rFkk b xyr gSA
(2)	 a rFkk c lgh gSa rFkk b xyr gSA
(3)	 b rFkk c lgh gSa rFkk a xyr gSA
(4)	 a, b rFkk c lgh gSaA

114.	,d iBu lkexzh dks ckjhdh ls i<+us dk D;k vFkZ gS\
(1)	 iBu lkexzh esa gS D;k] ;g tkuukA
(2)	 iBu esa #fp mRiUu djukA
(3)	 fof'k"V lwpuk <w¡<+ukA
(4)	 iBu lkexzh dh çkekf.kdrk tk¡pukA
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115.	fuEufyf[kr esa ls dkSu&lk f'k{kkfFkZ;ksa dh mPpkj.k rFkk 'kCn 
lEink fuekZ.k esa lgk;rk djrk gS\
(1)	 ekSu iBuA
(2)	 f'k{kkfFkZ;ksa ds fy, lLoj okpuA
(3)	 ikB~;iqLrd ij vkèkkfjr ç'uksa ds mÙkj nsukA
(4)	 ljljh rkSj ij i<+ukA

116.	fdl ds }kjk çLrkfor fd;k x;k fd cPps Hkk"kk lh[kus ds fy, 
vuqdwyu rFkk lek;kstu dk ç;ksx djrs gSa\
(1)	 LVhQu Øs'ku	 (2)	 ch-,Q- fLduj
(3)	 thu fi;kts	 (4)	 ukWe pkWELdh

117.	d{kk I dk dchj ^'kkfUr* 'kCn lqudj ^QkfUr*] ^MkfUr*] ^ekfUr* 
tSls fujFkZd 'kCn cksydj ets ysrk gSA ;g çnf'kZr djrk gS 
fdµ 
(1)	 mlus xyr ladYiuk fodflr dj yh gSA	
(2)	 og èoU;kRed tkx:drk fodflr dj jgk gSA
(3)	 mls bl rF; dks Hkwyus rFkk nqckjk ls lgh ;kn djus dh 

vko';drk gSA	
(4)	 mls Lo;a dks lqèkkjus ds fy, vkSj vfèkd vH;kl dh 

vko';drk gSA

118.	d{kk esa fn, x, dk;Z ds :i esa d{kk III dk xhr dqN O;kdjf.kd 
=qfV;ksa ds lkFk okD; fy[krk gSA fuEufyf[kr esa ls dkSu&lh çfØ;k 
f'k{kd ds }kjk ç;ksx dh tk ldrh gS\
(1)	 xyfr;ksa ij yky isu ls ?ksjk cukdj mlds Åij lgh :i 

fy[kukA	
(2)	 xyfr;ksa ij ?ksjk cukdj cPps dks mls lgh djus ds fy, 

dgukA
(3)	 xyfr;ksa dks js[kkafdr djuk] xyrh dh çÏfr fy[kdj 

f'k{kkfFkZ;ksa dks mUgsa lqèkkjus ds fy, dgukA	
(4)	 cPps dks çR;sd xyrh ik¡p ckj lgh rjhds ls fy[kus ds fy, 

dgukA

119.	ekè;e dh Hkk"kk esa fuiq.krk fodflr djus ds fy, ?kj dh Hkk"kk 
dk ç;ksx D;k djrk gS\
(1)	 y{; Hkk"kk dks lh[kus esa ckèkd fl¼ gksrk gSA
(2)	 nksuksa Hkk"kkvksa esa eqf'dysa iSnk djrk gSA
(3)	 ,d çHkkodkjh j.kuhfr fl¼ gks ldrh gSA
(4)	 fdlh Hkh dher ij cpuk pkfg,A

120.	Hkk"kk dk O;kdj.k dc lcls vPNk lh[kk tk ldrk gS\
(1)	 iBu lkexzh rFkk lajpukvksa dh igpku dks ,dhÏr djdsA
(2)	 O;kdjf.kd ladYiukvksa dk vyx ls vH;kl djdsA
(3)	 O;kdjf.kd lajpukvksa dks daBLFk djdsA
(4)	 lajpukRed mikxe dks viukdjA

Language: English

Direction (121-128): Read the passage given below and 
answer the questions that follow by choosing the correct/most 
appropriate options:
1.	 At least a third of the ice in the Himalayas and 

the Hindu Kush region will melt this century as 
temperatures rise, disrupting river flows vital for 
growing corps from China to India, according to the 
scientists.

2.	 Vast glaciers make the Hindu Kush Himalaya (HKH) 
region-which is home to the world’s highest peaks 

topped by Mount Everest and K2-a third pole behind 
Antarctica and the Arctic region, they said.

3.	 “Global warming is on track to transform the frigid 
glacier-covered mountain peaks of the HKH cutting 
across eight countries to bare rocks in a little less 
than a century,” said Wester of the International 
Centre for Integrated Mountain Development.

4.	 The report, by 210 authors, said that more than a 
third of the ice in the region will melt by 2100 even 
if the governments take tough action to limit global 
warming under the 2015 Paris climate agreement.

5.	 The study said that the thaw will disrupt rivers 
including the Yangtze, Mekong, Indus and the 
Ganga where farmers rely on glacier melt water in 
the dry season. About 250 million people live in the 
mountains and 1.65 billion in river valleys below.

6.	 Changes in river flows could also harm hydropower 
production and cause more erosion and landslides 
in the mountains.

121.	Read the following statements
A.	 Para 1 deals with the cause of the thaw in the 

Himalayan region.
B.	 Para 2 provides a solution to deal with the effects 

of climate change.
	 Choose the correct option:

(1)	 A is true and B is false
(2)	 B is true and A is false
(3)	 Both A and B are false
(4)	 Both A and B are true

122.	According to the author the Himalayas and Hindu 
Kush region is important because:
(1)	 It is home to red pandas and snow leopards.
(2)	 It has dense pine and gir forests.
(3)	 It has the world’s highest peaks.
(4)	 It has a variety of rare herbs and shrubs.

123.	Which of the following statements is not supported 
by evidence in the text?
(1)	 Implementation of the 2015 Climate Agreement 

will reduce rising temperatures.
(2)	 The melting of the Himalayas will disrupt river 

flows.
(3)	 Climate change will severely affect people living 

in small island states.
(4)	 The thaw will cause more erosion and landslides.

124.	Which paragraph deals with the cause and effect of 
the thaw in the Himalayan region?
(1)	 Paragraph 1	 (2)	 Paragraph 3
(3)	 Paragraph 4	 (4)	 Paragraph 5

125.	Which of the following words is most similar in 
meaning to the word, ‘bare’ as used in the passage? 
(Para 3)
(1)	 clear	 (2)	 naked
(3)	 distant	 (4)	 tough

126.	Which of the following words is opposite in meaning 
to the word, ‘harm’ as used in the passage? (Para 6)
(1)	 attract	 (2)	 benefit
(3)	 raise	 (4)	 promote

127.	Which part of speech is the underlined word in the 
sentence, ‘...river flows are vital for growing crops?’
(1)	 Noun	 (2)	 Adverb
(3)	 Pronoun	 (4)	 Adjective
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128.	Which part of the following sentence contains an 
error?
If we will be

(a)  
late
(b)  

they will
(c)  

be angry
(d)

(1)	 (b)	 (2)	 (c)
(3)	 (a)	 (4)	 (d)

Directions (129-135): Read the passage given below and 
answer the questions that follows by selecting the correct/most 
appropriate options:
1.	 Heaven seems to turn up when we least expect it, I 

gave up a good job in Delhi and came to live in a hill 
station; partly because I love mountains and forests 
and partly because I wanted to devote more time 
to writing. I live at the edge of a forest of oak and 
maple. I am happy among trees but the full magic of 
a tree was only brought home to me some time ago 
when I was in the plains.

2.	 I was walking through a stretch of wasteland, a 
desert that seemed to stretch endlessly across a wide, 
flat plan. Just as I was beginning to find the heat and 
the glare a little discouraging, I saw a tree, just one 
small, crooked tree shimmering in the distance and 
seeing it there all by itself, but growing stubbornly 
where other trees would not grow, I was filled with 
love and admiration for it. When I reached the 
tree, I found that it had given shelter to other small 
plants from the sun. A pair of parrots emerged from 
a hole in the tree trunk and flew across the plain, 
flashes of red and green and gold. Finding that tree 
there, struggling on its own but giving life to other 
things, was like finding a bit of heaven, where I least 
expected it.

3.	 Almost always it is unexpected that delights us, that 
takes us by the throat and gives us a good shaking, 
leaving us gaping in wonder. It may only be a shaft 
of sunlight slanting through the pillars of a banyan 
tree or dewdrops caught in a spider’s web or, in the 
stillness of the mountains, the sudden chatter of a 
mountain stream as you go round the bend of a hill. 
Or an emperor’s first glimpse of a winding river and 
the world beyond.

129.	The author decided to shift to the mountains 
because:
(1)	 he wanted to recuperate after his long illness.
(2)	 his friends urged him to come and participate in 

the festivities.
(3)	 he loved mountains and wanted to do his writing 

work.
(4)	 he was fed up with the hectic life in Delhi.

130.	What lifted the writer’s drooping spirit in the desert 
heat?
(1)	 A huge black cloud covering the sky above him.
(2)	 A single crooked tree struggling to survive in the 

desert.
(3)	 The sight of a green tract at a little distance away.
(4)	 A caravan trudging through the desert.

131.	The writer was filled with love and admiration for
(1)	 the stillness of the mountains.
(2)	 flashes of red and green and gold.
(3)	 dewdrops caught in a spider’s web.
(4)	 the small crooked tree standing alone in the 

desert.

132.	The phrase ‘a bit of heaven’ in para 3 means 
something
(1)	 amazing
(2)	 really enjoyable
(3)	 really unexpected
(4)	 evoking strange feelings

133.	Which of the following words has the same meaning 
as the word, ‘crooked’ in the passage (para 2)?
(1)	 ugly	 (2)	 twisted
(3)	 scary	 (4)	 disturbing

134.	Which of the following words is the most opposite 
in meaning to the word, ‘sudden’ as used in the 
passage (para 3)?
(1)	 quick	 (2)	 gradual
(3)	 slow	 (4)	 leisurely

135.	Which part of the following sentence contains an 
error?

	
Farmers and gardeners

(a)  
have been

(b)  
badly affected

(c)  
by the drought.

(d)
(1)	 (b)	 (2)	 (c)
(3)	 (d)	 (4)	 (a)

136.	Chomsky proposed the assumption that:
(1)	 child requires language through imitation.
(2)	 language learning is like habit formation.
(3)	 child is born with innate language learning 

capacity.
(4)	 child acquires language through reward and 

punishment.
137.	Cooperative learning strategies focus on

(1)	 students competing with each other.
(2)	 students helping one another to learn.
(3)	 students maintaining silence in the class.
(4)	 students listening to teacher patiently.

138.	Which of the following is true for writing as a 
process?
(1)	 Writing is receptive
(2)	 Writing is recursive
(3)	 Writing is linear
(4)	 Writing is memorising and reproducing

139.	Which of the following is NOT for print rich 
environment in a class?
(1)	 It helps the students to learn the language in a 

meaningful and fun filled way.
(2)	 Students are exposed to many forms of print.
(3)	 It helps in developing reading skills.
(4)	 Students are encouraged to do clay moulding as 

a free play activity.
140.	The term ‘comprehensible input in language is 

proposed by:
(1)	 Lev Vygotsky	 (2)	 Stephen Kreshan
(3)	 Noam Chomsky	 (4)	 Watson

141.	In language teaching and learning, ‘whole language’ 
is a/an
(1)	 Method	 (2)	 Technique
(3)	 Approach	 (4)	 Strategy

142.	Skimming is reading a text to:
(1)	 get the general idea of the text
(2)	 create interest in reading
(3)	 find specific information
(4)	 understand the details of the text
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143.	Reading aloud to students helps in
(1)	 building the learners’ vocabulary and enhancing 

pronunciation
(2)	 helps the teacher to demonstrate her authority in 

class
(3)	 comprehend the details of the text
(4)	 helps the teacher to maintain silence in class

144.	Piaget’ theory on language development suggests 
that language is learnt through
(1)	 assimilation and accommodation
(2)	 interaction with the society
(3)	 trial and error
(4)	 universal grammar in the child’s mind

145.	In a language classroom teacher facilitates and 
motivates children towards transfer of concepts and 
skills from home language to language of instruction 
at school. This strategy
(1)	 confuses the students
(2)	 promotes language learning
(3)	 hinders learning of target language
(4)	 interferes in the development of proficiency in 

target language
146.	National Educational Policy (NEP) 2020 focuses on

(1)	 three R’s
(2)	 foundational literacy and numeracy
(3)	 only numerical concepts
(4)	 mathematics

147.	Which one of the following is NOT true for story 
telling as a pedagogical tool?
(1)	 It helps to memorise the moral of the story
(2)	 It helps to explore regional and cultural diversity 

of our country.
(3)	 It helps in integrating stories into curriculum at 

all levels.
(4)	 It helps to enhance the power of imagination 

and creativity.
148.	Integration of Toy Based Pedagogy in language 

learning can be done through
(1)	 role play using toys
(2)	 setting up toy corner in the classroom
(3)	 using toys to teach moral values
(4)	 drawing the favourite toys

149.	Which one of the following is the most suitable 
assessment activity for assessing learners’ listening 
skill?
(1)	 Enacting a character in a role play
(2)	 Describing a market scene
(3)	 Reading a newspaper in a morning assembly
(4)	 Retelling the story narrated by the teacher

150.	A teacher uses menu card in a language task. This 
menu card

(1)	 is a relevant material for catering technology
(2)	 is an authentic material for language pedagogy
(3)	 will tempt students towards eating the food
(4)	 cannot be used as material in language class
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	 51.	 (2)	 52.	 (1)	 53.	 (3)	 54.	 (2)	 55.	 (1)
	 56.	 (2)	 57.	 (3)	 58.	 (2)	 59.	 (2)	 60.	 (2)

Environmental Studies

	 61.	 (3)	 62.	 (1)	 63.	 (3)	 64.	 (4)	 65.	 (4)
	 66.	 (2)	 67.	 (4)	 68.	 (3)	 69.	 (3)	 70.	 (2)
	 71.	 (2)	 72.	 (4)	 73.	 (4)	 74.	 (3)	 75.	 (3)
	 76.	 (1)	 77.	 (2)	 78.	 (1)	 79.	 (2)	 80.	 (3)
	 81.	 (1)	 82.	 (1)	 83.	 (3)	 84.	 (1)	 85.	 (1)
	 86.	 (3)	 87.	 (1)	 88.	 (1)	 89.	 (1)	 90.	 (1)

Langauge: Hindi

	 91.	 (1)	 92.	 (2)	 93.	 (3)	 94.	 (2)	 95.	 (3)
	 96.	 (3)	 97.	 (3)	 98.	 (2)	 99.	 (2)	 100.	 (4)
	 101.	 (1)	 102.	 (3)	 103.	 (2)	 104.	 (1)	 105.	 (1)
	 106.	 (4)	 107.	 (2)	 108.	 (4)	 109.	 (4)	 110.	 (1)
	 111.	 (4)	 112.	 (1)	 113.	 (2)	 114.	 (3)	 115.	 (2)
	 116.	 (3)	 117.	 (2)	 118.	 (3)	 119.	 (3)	 120.	 (1)

Langauge: English

	 121.	 (1)	 122.	 (3)	 123.	 (1)	 124.	 (1)	 125.	 (2)
	 126.	 (2)	 127.	 (4)	 128.	 (3)	 129.	 (2)	 130.	 (2)
	 131.	  (4)	 132.	 (3)	 133.	 (2)	 134.	 (2)	 135.	 (2)
	 136.	 (3)	 137.	 (2)	 138.	 (2)	 139.	 (4)	 140.	 (2)
	 141.	 (3)	 142.	 (1)	 143.	 (1)	 144.	 (1)	 145.	  (2)
	 146.	 (2)	 147.	  (1)	 148.	 (2)	 149.	 (4)	 150.	 (2)
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Child Development and 
Pedagogy

1.	 Option (3) is correct.
Explanation: Children’s physical, 
social, cultural, economic, and 
historical circumstances contribute 
significantly to their development.
Social interactions help young 
children engage in activities that 
enhance their fine and gross motor 
skills.
Socioeconomic position, race and 
ethnicity, nativity, gender, and 
age are crucial factors which may 
influence a range of interrelated 
behaviours.
Vygotsky's sociocultural theory 
asserts that learning is a crucially 
social process instead of an 
independent journey of discovery.

2.	 Option (2) is correct.
Explanation: Fine motor skill refers 
to the coordination of small muscles 
in movement with the eyes, hands, 
and fingers. It contributes to the 
development of manual dexterity 
and precision in tasks that require 
precise hand movements. Threading 
beads is an excellent activity for 
children to strengthen their finger 
muscles and improve their fine 
motor control. This can support 
their ability to hold a pencil and 
write with greater ease in the future.

3.	 Option (1) is correct.

Explanation: Heredity plays a 
significant role in the 'Physical 
development of the child'. Heredity 
determines which traits are passed 
from the parent to the offspring, like 
the colour of eyes, hair, skin, height 
and more. While the other options 
are related to the environment or 
individual can acquire these traits 
from environment.

4.	 Option (3) is correct.

Explanation: Secondary agents of 
socialization, like religious communi-
ties, workplaces, schools, places of 
worship, and recreational institutions, 
teach us how to act appropriately in a 
group or social situation.
A school, as a secondary agent of 
socialization, helps create a social 
self' in an individual through 
school activities designed to 
promote sharing, fair play, and 
collaboration. However, school is a 
secondary means because the home 

environment is the primary agent of 
socialization.

5.	 Option (2) is correct.

Explanation: Kohlberg's theory 
proposes three levels of moral 
development (in which people 
move in a fixed order and moral 
understanding), which includes 
pre-conventional, conventional, and 
post-conventional.
Conventional morality is stage 2 of 
moral development. First, there is an 
acceptance of society's conventions 
concerning right and wrong, where 
an individual follows society's rules 
and norms even when there are 
no consequences for obedience or 
disobedience.
At the conventional level, most 
adolescents and adults begin to 
acquire the moral standards of 
valued adult role models, stress the 
responsibilities of relationships, and 
need a social order to define those 
relationships. It influences our view 
of what is right and wrong.

6.	 Option (3) is correct.

Explanation: The theory of cognitive 
development (Jean Piaget) includes 
accommodation.
It is the process by which we learn 
and develop our cognitive abilities.
A schema is an organized pattern of 
knowledge. We organize informa-
tion into schemas to increase our 
understanding of the world. For 
example, a child’s schema of a 
bus may include a large motor 
vehicle that has four large wheels, 
has several rows of seats, and is 
used for travelling long distances. 
Accommodation involves modifying 
or changing the existing schema to 
fit the new information, rather than 
changing the information to fit the 
schema.
Disequilibrium occurs when new 
knowledge does not fit with one's 
accumulated knowledge
NOTE: In short Assimilation: means 
Addition of information.
Accommodation: means modifica-
tions of information.
Equilibrium: balance the informa-
tion by the assimilation and 
accommodation.
Disequilibrium: New informations 
cannot fit in existing informations.

7.	 Option (3) is correct.

Explanation: Semiotic functions 
include all imaginative and depictive 
actions of the human mind. They 
are not components of the thinking 
process but represent knowledge 
about the world.
Examples are traffic signs, emojis, 
logos and brands used by international 
corporations to sell us things.
The Pre-operational stage in Jean 
Piaget's 'Theory of Cognitive Deve-
lopment' begins around age two and 
lasts until about seven.
The child cannot use logic to 
transform or combine different 
ideas during this stage. According to 
Piaget, the development of semiotic 
functions, which involve the use of 
symbols and signs, starts to emerge 
during the Preoperational stage, 
around the age of two.
NOTE:
Piaget gave four stages.
about cognitive development-
The Sensorimotor Stage (0-2 years)
The Pre-Operational Stage (2-7 years)
The Concrete Operational Stage (7-
11 years)
The Formal Operational Stage (11 
years and above)

8.	 Option (1) is correct.

Explanation: Reciprocal teaching 
encourages students to think about 
their thought processes while 
reading.
It helps students learn to involve 
actively and monitor their reading.
It encourages students to ask 
questions during reading and helps 
make the text more understandable.
For example, the teacher and 
students ask questions about the 
sentence. The students ask questions 
first, and the teacher must answer 
with the book closed. Then, the 
students close their books, and the 
teacher asks questions.
Reciprocal teaching involves four 
strategies that guide the discussion: 
predicting, question generating, 
clarifying, and summarizing.

9.	 Option (1) is correct.

Explanation: Vygotsky's scaffolding 
theory focuses on students' ability 
to learn information through a more 
informed individual.
Scaffolding provides temporary 
support to students as they engage 
in learning tasks that are challenging 
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and beyond their current level of 
understanding.
Students freely ask questions, 
provide feedback and support their 
peers in learning new material.

10.	 Option (3) is correct.

Explanation: Progressive learning 
encourages students to reflect 
on their learning, follow their 
questions, and collaborate with 
peers and teachers, thus building 
their investigating, problem-solving, 
and communication skills.
A progressive classroom helps 
students develop the emotional 
intelligence and social skills they 
need to work in groups, enjoy 
healthy relationships, and live 
fulfilling and successful lives.
The progressive classroom teacher 
encourages, guides and stimulates 
thinking by providing enriching 
classroom interaction.

11.	 Option (3) is correct.

Explanation: Interpersonal intelli-
gence is one of Howard Gardner's 
eight (according to NCERT) multiple 
intelligences, and this intelligence 
refers to how good an individual is 
at understanding and dealing with 
others.
A person with high interpersonal 
intelligence excels in understanding 
and responding to the emotions, 
moods, temperaments, and inten-
tions of others. They are adept at 
building relationships, demonstrating 
empathy, resolving conflicts, and 
effective communication. 
Examples: Mahatma Gandhi and 
Cesar Chavez etc.

12.	 Option (2) is correct.
A gender stereotype is a generalized 
conception about attributes or 
characteristics that expected to be 
possessed by men and women or the 
roles that men and women perform.
Gender stereotypes can be positive 
and negative, for example, "women 
are nurturing" or "women are weak.”
In the given statement of a father to 
his son, "Don't cry like a girl, you are 
a boy", clearly described that this is 
a prospectives or  generalized view 
about the men or women which 
must be followed by the society as 
per gender stereotype.

13.	 Option (1) is correct.
Continuous and Comprehensive 
Evaluation (CCE) is a school-based 
evaluation covering all aspects of 
school activities related to a child's 
development.
It emphasizes two main objectives, 
such as continuity of evaluation and 
assessment of learning outcomes.
School-based CCE has the following 
characteristics:

It is more comprehensive, broader, 
and continuous than the traditional 
system.
It aims primarily to help learners 
with orderly learning and develop-
ment.
It takes care of the learner's needs as 
responsible citizens of the future.
Encourages the learning of 
students by including new teaching 
techniques and methods.
CCE Explores the learning needs as 
well as the potential of the students.
It identifies the continuous learning 
progress of students on smaller 
content portions regularly.
Recognizes and deals with the 
needs of students who need to be 
academically sound.
Encourages students to participate 
in extra-curricular activities instead 
of focusing on academics.
Divides the huge CBSE portion 
into smaller chunks and reduce the 
pressure of enormous studying.
CCE leads to holistic education, 
which calls for overall student 
development.
It encourages the development of 
additional life skills, emotional skills 
and thinking abilities.

14.	 Option (3) is correct.

Explanation: Race: Race refers to 
the differences in people's skin 
tones and is associated with racial 
prejudice.
Ethnicity: An ethnicity includes the 
culture and heritage that form their 
community and family. They can 
differ by country, region, city, or 
even neighbourhood.
Language: For some students, 
English may be their second 
language.
Religion: Religion encompasses 
a variety of world religions and 
the diverse beliefs and practices 
observed within each religious sect.
Economics: Public school students 
come from various household 
wealth and income levels, including 
both affluent families to those living 
at or below the poverty line.
Sexual orientation and gender 
identity: Students often begin to 
better understand their sexual and 
gender identities during their school 
years.
'Learning diversity' refers to range 
of experiences and attributes a child 
brings to their formal learning at 
school. Teachers try to meet the 
needs of all learners so that every 
student experience success.
Hence, an Inclusive classroom is 
Heterogenous and not Homogenous.

15.	 Option (2) is correct.
Explanation: Mnemonics are the 
memory devices that help learners 
recall more critical information, 
especially in lists like characteristics, 
steps, stages, and parts.

Three Types and examples of 
mnemonic devices:
n	 Acronyms and acrostics.
n	 Association.
n	 Chunking.
n	 Method of loci.
n	 Songs and rhymes.
The greater the association created 
between the words to learn and 
something already known, the easier 
it will be to remember them. That is 
why mnemonics is a powerful way 
to learn new vocabulary.

16.	 Option (2) is correct.
Dyslexia is a learning disorder which 
leads to difficulty in reading. A person 
with dyslexia has problems identify-
ing speech sounds and relating to 
letters and words (decoding).
Dyslexia is believed to have neuro-
logical origins and is characterized 
by difficulties in language process-
ing, including reading.
The following are the ways to 
support learners with dyslexia.
A teacher can create supportive and 
collaborative classroom culture.
The teacher can use multisensory 
input and activities.
The teacher can offer learners 
choices.
The teacher can use L-shaped cards 
because for the framing of sections 
of textbook pages to pay more 
attention.
The teacher can present new 
language in small and manageable 
chunks.
They can spend some time explicitly 
teaching exam strategies.

17.	 Option (3) is correct.
Inclusive education follows the 
principle that all children should 
learn together, regardless of 
differences, including people with 
disabilities. It acknowledges that 
each person has different strengths, 
requirements, and learning styles.
The following are the ways to 
practice inclusiveness:
With the help of projectors, smart 
boards, and other such tools in the 
classroom. Setting clear goals for the 
child.
Teaching questioning skills can 
enhance reasoning abilities and 
prepare students for questions 
presented in diverse formats during 
exams.
The teacher can help them by 
creating a supportive, respectful 
environment and promoting 
diversity and fairness.
They can create a supportive peer 
culture both inside and outside the 
classroom.
To plan learning which includes 
participation from everyone and 
encourages success.
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18.	 Option (3) is correct.
Explanation: In the given scenario, 
where a student switches between 
the school mainstream language 
and the dialect spoken in their 
hometown, it is essential for the 
teacher to support the student in 
developing their language skills. 
Introducing similar word-meanings 
gradually in the target language can 
assist the student in transitioning 
and expanding their vocabulary 
and understanding. This approach 
promotes language development 
without devaluing the student's 
home dialect.

19.	 Option (4) is correct.
Explanation: Successful inclusive 
education happens through accept-
ing, understanding, and attending 
to student differences and diversity, 
including physical, cognitive, 
academic, social, and emotional.
Inclusive education believes that 
all children, regardless of their 
disability, should be educated 
in public schools alongside non-
disabled children.

20.	 Option (2) is correct.
Explanation: In visual impairment, 
the eye does not see objects as 
clearly as usual.
Loss of Central Vision. Losing 
central vision creates a blur or blind 
spot, but side (peripheral) vision 
remains intact.
n	 Loss of Peripheral (Side) Vision.
n	 Blurred Vision.
n	 Generalized Haze.
n	 Extreme Light Sensitivity.
n	 Night Blindness.
The teacher can practice the 
following strategies to include 
vision-disabled students:
By speaking to the class upon 
entering and leaving the room.
Calling the student with a visual 
impairment by name to catch their 
attention.
By seating the students away from 
glaring lights (e.g., by the window) 
and preferably in front of the class.
Using descriptive words such as 
straight, forward, left, and more.

21.	 Option (4) is correct. (Teachers 
should focus on using rewards and 
punishment to promote compliance 
in children).
The NEP 2020 recognizes and 
fosters the unique capabilities of 
each student by training teachers 
and parents to promote their holistic 
development in both academic and 
non-academic spheres.
Flexibility allows learners to choose 
their learning trajectories and 
program and thereby choose their 
paths in life according to their 
talents and interests.

Creativity and critical thinking 
foster logical decision-making and 
innovation.
Hence, it is correct to say teachers 
should focus on using rewards and 
punishment to promote compliance 
in children is not included in NEP 
2020.

22.	 Option (3) is correct.
Explanation: Concrete thinking 
focuses on things that are concrete 
and tangible. In contrast, abstract 
thinking is a higher-level mode 
that involves processing theoretical 
concepts and allows us to make 
connections.
For example, a concrete thinker 
would interpret the phrase 'people 
living in glass houses should not 
throw stones' literally, referring 
to breakable panes of glass. An 
abstract thinker, in contrast, would 
understand that figure of speech 
means that people who have faults 
of their own should not criticize 
others.
Students' local contexts can be their 
family, school, community, or even 
their country, while global contexts 
refer to international or universal 
frameworks.
Prompting our learners to develop 
their inquiry in local and global 
contexts, especially if they connect 
with real-life issues, can challenge 
their pre-existing representations of 
several matters and concepts, which 
helps them to reorganize their 
understanding based on a more 
universal, internationally-minded 
perspective.

23.	 Option (4) is correct.
Explanation: Jean Piaget's theory 
of constructivism indicates that 
humans create knowledge by 
interacting with their experiences 
and ideas.
Constructivism states that learners 
create knowledge
rather than take it passively.
Constructivist teaching emphasizes 
that learning occurs as learners 
actively construct meaning and 
knowledge rather than passively 
receive information.
Here, the teacher is trying to 
encourage students to focus 
meaningful words like tiger, pen, 
water to create their own knowledge.

24.	 Option (2) is correct.
Explanation: When students engage 
in categorizing, naming, and sorting 
activities, they prepare for more-
complex thinking, which helps 
reduce misconceptions.
Concept formation activities:
Let students know that they still 
need to get all the answers.
Question everything and encourage 
them to do the same.

Force students to make their own 
choices.
Avoid exams like the plague.
Push them to try new things.
Moreover, encourage them to take 
risks in their work by giving them 
time to explore their thoughts and 
producing innovative solutions on 
a wide range of projects they are 
working on to show what is possible 
when they apply themselves 
creatively.

25.	 Option (1) is correct.
Fear severely affects the brain 
architecture of memory and learning. 
As a result, students who confront 
fatal and chronic fearful experiences 
tend to lose their learning capacities, 
due to which they either show 
poor academic and low learning 
performance or failing grades.
While academic competition can 
motivate students to work harder 
and achieve higher grades, it can 
also create unhealthy stress levels, 
leading to anxiety and depression, 
which can adversely affect academic 
performance.
Stress often comes from academic 
competition between individual 
students can easily lead to stress and 
anxiety. This stress may cause them 
to neglect other interests, leading to 
an unbalanced life.

26.	 Option (1) is correct.
The "disadvantaged" is a generic 
term for individuals or groups 
who face unique problems such as 
physical or mental disability, and 
lack of money or economic support.
To help students in a disadvantaged 
position, a teacher should provide 
equal opportunities and support 
to all students, recognizing that 
disadvantaged students can 
perform to the same standard as 
their advantaged counterparts and 
have the potential to progress to 
university.
They should offer counsel, set 
up mentoring for students and 
teachers, improve teacher training 
and education and develop relevant 
curricula.

27.	 Option (4) is correct.
Explanation: Children grow up in 
specific physical, social, cultural, 
economic, and historical circum-
stances (their socio-cultural context), 
all of which will influence their 
childhood.
While children interact with each 
other, their understanding of objects, 
words, emotions, and social cues 
may differ depending on where 
they encounter them.
Socially competent children adjust 
better and accept diversity, change 
and new forms of learning better.
When they enter school, children 
have sufficient knowledge of the 
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language they can communicate in 
their mother tongue. However, they 
need to develop as they can utter 
only a few syllables or words to 
communicate, and the concept still 
needs to be fully developed.

28.	 Option (3) is correct.
Explanation: 'Learned helplessness' 
occurs when a person has 
experienced a stressful situation 
repeatedly and is convinced that 
they cannot control or change the 
situation, so they do not try — even 
when opportunities for change 
become available.
Seligman has developed three 
critical features for recognizing 
learned helplessness:
Becoming passive when confronted 
with traumatic events.
Difficulty believing that they can 
control trauma and an increase in 
stress levels.
'Learned helplessness' results in a 
lack of self-esteem, low motivation, 
persistence, the conviction of being 
inept, and failure.

29.	 Option (1) is correct.
Explanation: Incremental beliefs 
encourage people to develop their 
abilities.
Motivation improves the student's 
learning performance and helps a 
learner understand which outcomes 
are strengthening and which are 
punishing. Thus, motivation helps 
encourage a child to strive for better 
results.
In order to motivate a child:
Give verbal praise for successful 
progress or accomplishment.
Give personal attention to students.
Provide informative, helpful feed-
back when it is relevant or appropriate.
Provide motivating feedback (praise) 
immediately following task perfor-
mance.

30.	 Option (4) is correct.
Explanation: Mistakes are an 
opportunity to learn and to have 
growth. By examining our mistakes, 
we can see where we have made 
errors and learn to avoid those errors 
in the future. Sometimes mistakes 
can even benefit us – forcing us to 
look at things from an angle we may 
have never considered before.
Children differ in how they 
think about and understand their 
experiences.

Mathematics
31.	 Option (1) is correct.

Solution: 
Cost of 1 litre of milk	
	 = Rs. 45
Quantity of milk sold everyday	
	 = 10 lts.
Total cost of milk sold in a day	
	 = 450 × 30

Total cost of milk sold in September 
month 30 days
	 = 450 × 5
	 = Rs. 13500
Tax paid every week to municipal 
corporation
	 = Rs. 50
Number of weeks in September	
	 = 5
Total Tax paid	
	 = 50 × 5
	 = Rs. 250
Now, ATQ
Total money earned by Ratiram in 
September
	 = [Total cost of milk – Tax paid]
	 = 13500 – 250
	 = Rs. 13250
TRICK
Total cost of milk in September
	 = �[Cost of 1 lt. × Quantity of 

milk sold × No. of Days]
	 = 45 × 10 × 30
	 = 13,500
Total money earned
	 = Total cost – Tax paid
	 = 13500 – [50 × 5]
	 = 13,250

32.	 Option (2) is correct.
Solution: For James,
Amount of loan taken			 
			   = Rs. 500
Amount paid per day			 
			   = Rs. 11
No. of day to repay loan		
= 55
Total amount paid		  = 11 × 55
			   = Rs. 605
For Kabeer,
Amount of loan taken			 
			   = Rs. 500
Number of days to repay loan		
			   = 55
Total amount paid		  = Rs. 600
ATQ,
Difference in amount paid		
			   = 605 – 600
			   = Rs. 5
So, James paid Rs. 5.00 more than 
that of Kabeer.

33.	 Option (1) is correct.
Solution: 
Total no. of students for each seat		
			   = 112
No. of students that can sit in mini 
bus			   = 15
No. of students that can sit in big 
bus			   = 3 × 15
			   = 45
n	 For 2 Big Buses
	 No. of students that can come		
			   = 2 × 45
			   = 90
n	 For 2 Mini Buses
	 No. of students that can occupy 

seats		  = 2 × 15
			   = 30
Total no. of seats		  = 30 + 90
			   = 120
So, for 112 students 2 mini buses and 
2 big buses are required.

34.	 Option (2) is correct.
Solution: Considering all the 
options, we get:
Option 1:
Divisor of 6 are	 = 1, 2, 3
Sum of divisors	= 1 + 2 + 3
			   = 6 a perfect no.
Option 2:
Divisor of 48 are			 
			   = �1, 2, 3, 4, 6, 8, 12, 

16, 24
Sum of divisors	 = �1 + 2 + 3 + 4 + 6 

+ 8 + 12 + 16 + 24
			   = �76 [not a perfect 

no.]
Option 3:
Divisor of 28 are			 
			   = 1, 2, 4, 7, 14
Sum of divisors	= �1 + 2 + 4 + 7  

+ 14
			   = 28 [a perfect no.]
Option 4:
Divisor of 496 are
			   = �1, 2, 4, 8, 16, 31, 

62, 124, 248
Sum of divisors	= �1 + 2 + 4 + 8  

+ 16 + 31 + 62 + 
124 + 248

			   = �496 [a perfect 
square]

So, here, 48 is not a perfect number.
[INFO—Perfect number is a positive 
integer in which it is equal to the 
sum of all its positive divisors, 
excluding the no. itself]

35.	 Option (2) is correct.
Explanation:

(i)
	

1
100th

 
of 1 km

			 

			 
=

 

1
100

× 1000
�

� [1 km = 1000 metre]
			   = 10 metre � [False]
(ii)	� 1,00,000 is equals to one 

hundred thousand
			   = 100 × 1000
			   = 1,00,000� [True]

(iii)
	

1
100th

 
of 1 litre �

�
[1 litre = 1000 ml]

			 
=

 

1
100

× 1000

			   = 10 litres� [False]
(iv)	� One crore is equals to one 

hundred lakh
			   = 100 × 1,00,000
			   = �1,00,00,000 (One 

crore)	� [True]
So, (ii) and (iv) statements are 
correct.

36.	 Option (3) is correct.
Solution:

Th T H T O

1 5 2 3 5
Digit at tens place is second prime 
no.			   = 3
Digit at thousand place is third 
prime no.		  = 5
Digit at hundred place is even prime 
no.			   = 2
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Digit at ten thousand place is half of 
2			   = 1
Now, ATQ
Only option 3 i.e. 15235 satisfies the 
statement.
[INFO—Prime numbers are the no.s 
that have only 2 factors i.e. 1 and 
itself.]

37.	 Option (1) is correct.
Solution:

3
8

4
16

1
4

1
8

+ + +

Taking LCM of 8, 16, 4, 8, we get 16

So,		  6 4 4 2
16

+ + +

	
=

 

16
16  

= 1

38.	 Option (2) is correct.	
Solution: Opposite sides of a 
parallelogram are of equal length 
but in square all sides are equal.

39.	 Option (4) is correct.
Solution:
Full turn: Rotating digit by 360°
Half turn: Rotating digit by 180°

40.	 Option (3) is correct.
Solution:
Side of a cube		 = 5 cm
Surface area of cube			 
			   = 6 × (side)2

			   = 6 × (5)2

			   = 6 × 25
			   = 150 cm2

Now,
New side is doubled			 
			   = 5 × 2
			   = 10 cm
New surface area			 
			   = 6 × (10)2

			   = 6 × 100
			   = 600 cm2

ATQ,

	

New surface area
Old surface area 	

= 
600
150

		  = 4
So, new surface area will be four 
times the old/original surface area.

41.	 Option (2) is correct.
Solution: 
Side of a square		  = 33 cm
Area of square		  = Side × Side
			   = 33 × 33
			   = 1089 cm2

Length of rectangle	= �2
3

rd of side 

of a square

			 
=

 

2
3

× 33

			   = 22 cm
Breadth of rectangle

			 
= �1

3
rd of side 

of square

			 
=

 

1
3  

× 33

			   = 11 cm
Area of rectangle		  = Length �
� × Breadth
			   = 22 × 11
			   = 242 cm2

Difference in their areas			 
			   = 1089 – 242
			   = 847 cm2

42.	 Option (1) is correct.
Solution: From June 30th to July 1st 
i.e. 		 11:20 am – 11:20 am
			   = 24 hours
On July 1st
		 11:20 am – 5:40 pm
			   = 6 hrs. + 20 minutes
Total time taken			 
			   = 24 hours + 6 hours
� + 20 min
			   = 30 hours 20 min

43.	 Option (2) is correct.
Solution:
		  B		 L		 A		 C		 K

		
 
↓	

–1	  
↓	

–1	  
↓	

–1	  
↓	

–1	  
↓	

–1

		  A		 K		 Z		 B		 J
So, opposite of BLACK is WHITE
Now,
		  W	 H		 I		 T		 E

		
 
↓	

–1	  
↓	

–1	  
↓	

–1	  
↓	

–1	  
↓	

–1

		  V		 G		 H		 S		 D
So, VGHSD is the correct secret 
message.

44.	 Option (1) is correct.
Explanation:
Cost of 1 egg		  = Rs. 4
Half dozen eggs		  = 6 × 4�
� [1 dozen = 12 articles]
			   = Rs. 24
Cost of 1 kg rice		  = Rs. 32

Cost of half kg rice		 =
 

1
2  

× 32

			   = Rs. 16
Cost of 1 kg salt		  = Rs. 16

Cost of 250 gm salt		 = 16
4 �

� [1 kg = 4 × 250 gms]
			   = 4
Cost of 1 matchbox	 = Rs. 3
Total cost of articles	= �24 + 16 + 4 

+ 3
			   = 47
Now,
Money she has		  = Rs. 45.50
Amount to be added
			   = 47 – 45.50
			   = Rs. 1.50
So, she has to add Rs. 1.50 to 
purchase all items.

45.	 Option (3) is correct.
Explanation:
No. of friends		  = 5
No. of friends not joined	= 2
Friends that came		  = 5 – 2 = 3
Cake Portion
Half portion to 3 friend		

Piece of cake with Rekha	=
 

1
2

Now, 
Her portion divided in 3 pieces

			 
=

 

1
3

2
÷

			 
=

 

1
6

So, 1
6  

part of the original cake she 

should eat.
46.	 Option (3) is correct.

Explanation: There are four 
principles of Dienes theory:
(i)	 Constructive principle
(ii)	 Dynamic principle
(iii)	 Perceptual variability
(iv)	 Mathematical variability
So, reversibility principle is not in 
dienes theory.

47.	 Option (1) is correct.
Explanation: According to Piaget, 
the number is a gathering of 
seriation and classification. Order 
and hierarchical inclusion is a two 
kinds of relationship that child 
creates among objects.

48.	 Option (1) is correct.
Explanation: In whole numbers, 
there is a rule that after adding a 
zero to a number on its right side 
increases its value to 10 times.

49.	 Option (3) is correct.
Explanation: NIPUN stands for 
National Initiative for Proficiency 
in Reading with Understanding 
and Numeracy Bharat programme. 
It was launched in 2020, ensuring 
that every child in India gains 
foundational numeracy and literacy 
by the end of grade 3.

50.	 Option (1) is correct.
Explanation: Peer assessment is the 
assessment done in pairs or groups 
that engages students in learning 
process and develop their capacity.

51.	 Option (2) is correct.
Explanation: In inductive method is 
a student-led approach to teaching 
where teacher provides learners 
with examples and allows them to 
arrive at their own conclusions. It 
is the best way to engage students 
analytical abilities and other 
cognitive functions.

52.	 Option (1) is correct.
Explanation: Here, Neha shows 
divergent thinking rather than 
following the routine learning by 
rote memorization. She follows 
repeated addition and subtraction 
by rounding by tens and hundreds.

53.	 Option (3) is correct.
Explanation: Constructivist approach 
in classroom is letting students 
learn on their own to deepen their 
knowledge, developing meaningful 
context to comprehend the content 
and taking part in learning as an 
active lerner.
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54.	 Option (2) is correct.
Explanation: 
(i)	 Problem solving abilities are 

abilities that enable people to 
handle unexpected situations 
or difficult challenges at work.

(ii)	 A group project is the best 
activity to enhance problem-
solving ability.

55.	 Option (1) is correct.
Explanation: Features of a good 
mathematical question is that it 
doesn't require memorization to 
solve problems. It increases the 
curiosity of learners and increases 
the thinking capacity of children.

56.	 Option (2) is correct.
Explanation: Van Hiele's theory 
describes how young people learn 
geometry. There are five levels of 
geometric thinking. Each level uses 
its own language and symbols. 
People use visual perception and 
non-verbal thinking.

57.	 Option (3) is correct.
Explanation: Dienes blocks give 
concrete representation of numbers 
in exact proportion to each other so 
that children can easily recognize the 
place values of different numbers 
like ones, tens, hundred etc.

58.	 Option (2) is correct.
Explanation: Homonyms are the 
words which has same spelling 
or pronunciation but different 
meaning.
Here, the student got confused in 
homonym of the word 'Ruler' i.e. 
an instrument of measurement or a 
king or queen.
So, they can be distinguished in the 
context or situation they are being 
used.

59.	 Option (2) is correct.
Explanation: Open-ended ques-
tions are those that don't have a 
fixed answer or method to solve the 
questions. It can give the respondents 
to share their views in language 
reflecting creativity, self expression 
and real views. Divergent thinking 
is a thought process use to generate 
creative ideas by exploring many 
possible solutions.

60.	 Option (2) is correct.
Explanation: According to NCF 
(2005), Mathematics for all is the 
mathematics that keeps in mind all 
caste, gender, abilities, interests. It 
ensures inclusive education and also 
brings joy to the children and makes 
sure that it is our responsibility 
not to deprive children of such 
education.

Environmental Studies
61.	 Option (3) is correct.

Explanation: This is an example of 
germination of seeds i.e. sprouting 
of seedling from an angiosperm. 
Here, the moong dal sprout is also 

an example. During the process, 
white structure emerges to form a 
root.
Most plants retain food storage with 
their seeds.
Such as carbohydrates, proteins, or 
oils.
The growing embryo receives 
nutrients from this food store.
Hydrolytic enzymes are activated 
when the seed absorbs water.
These stored food resources are 
broken down into metabolically 
usable molecules.

62.	 Option (1) is correct.
Explanation: Iodine test is the test 
done by putting the sample in the 
iodine solution and if it changes 
colour then it contains starch. Starch 
presence in the sample will turn it 
into blue-black color.
Plants follow the autotrophic mode 
of nutrition.
It prepares its own food using the 
process of photosynthesis.
The carbohydrate (starch) is 
prepared by the leaves of the plant 
in the presence of sunlight and 
chlorophyll.
The presence of the starch in the 
leaves can be determined by the 
iodine test.

63.	 Option (3) is correct.
Explanation: Beri-beri is a disease 
caused by lack of nutrients over 
a long period of time. It is caused 
by deficiency of vitamin B1. In this 
disease lack of coordination, muscle 
weakness or a loss of muscle occurs.
Vitamins help in protecting our 
bodies against diseases.
The deficiency of one or more 
nutrients can cause diseases or 
disorders in our bodies.
Diseases that occur due to a lack 
of nutrients over a long period are 
called deficiency diseases.
Vitamins deficiency mainly consists 
of two types: primary and secondary.
Some examples of vitamin deficiency 
diseases are rickets, beriberi, and 
pellagra.

64.	 Option (4) is correct.
Explanation: Jute is obtained from 
the stem part of the jute plant. It is 
obtained due to its golden and silky 
shine part. It is the longest and most 
used natural. It is grown in Tripura, 
West Bengal states of India.
Jute is extracted from the bark of 
the white jute plant (Corchorus 
capsularis) and to a lesser extent 
from tossa jute (C. olitorius).
It is a natural fibre with a golden 
and silky shine and hence called the 
Golden.
Jute is an annual crop taking about 
120 days (April/May-July/August) to 
grow.
It thrives in tropical lowland areas 
with humidity of 60% to 90%.
Jute is a rain-fed crop with little 
need for fertilizer or pesticides.

Jute is one of the most affordable 
natural fibres and is considered 
second only to cotton in the amount 
produced and variety of uses of 
vegetable fibres.
The jute crop is grown in nearly 
83 districts of seven states - West 
Bengal, Assam, Orissa, Bihar, Uttar 
Pradesh, Tripura and Meghalaya.
West Bengal alone accounts for over 
50% of raw Jute production.
Bihar ranks 2nd in terms of Jute 
production.

65.	 Option (4) is correct.
Explanation: Potato is a stem that 
grows from nodes of the potato only
Note:
n	 Radish is a tap root.
n	 �Sweet potato is an adventitious 

root.
n	 Tapioca is a modified root.
Nodulated roots
n	 The roots of pea and other 

leguminous plants have 
numerous swollen nodules on 
fine branches of roots.

n	 These nodules are formed due 
to the symbiotic association of 
Rhizobium (bacterium) that live 
inside the root cortical cells of the 
roots.

n	 They fix nitrogen and an active 
nodule is pink in colour.

66.	 Option (2) is correct.
Explanation: Parasitic plants are 
there which rely on other plants 
for their own food. They cannot 
synthesize their food so they climb 
on host plants and extract all the 
nutrients. Cuscuta is also a parasitic 
plant that cannot synthesize its food.
Nutrition is a process by which an 
organism consumes and uses food 
materials.
There are various modes of nutrition 
mainly, Autotrophic, Heterotrophic, 
Chemoautotrophic, Saprophytic, etc.
Parasitism is a type of heterotrophic 
nutrition.

67.	 Option (4) is correct.
Explanation: Seed dispersal is the 
movement of seeds away from their 
parent plant. It can be by air, water 
or with the help of animals.
Here, mango seeds are dispersed 
by animals as animals eat the soft 
juicy part of the fruit and leave the 
seed by dropping from its mouth at 
another place.
Every plant/ tree has a different type 
of seed.
Seeds of plants/trees travel from 
one place to another by different 
methods.
Seed Dispersal is an adaptive 
mechanism in the movement or 
transport of seeds away from their 
parent plant.
This helps to ensure the germination 
and survival of some of the seeds in 
adult plants.
There are many vectors to transport 
the seed from one place to another.
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Some travel by wind, some travel by 
water and some travel with the help 
of animals.
Seeds travel from one place to 
another to help in the propagation 
of plants/ trees.

68.	 Option (3) is correct.
Explanation: Cotyledons are referred 
to as seed leaves. They store the 
baby plant; provides nourishment 
and provides, provides food for the 
generation to them.
A seed is an important part of a 
flowering plant.
They give rise to a new plant.
They may be of different shapes, 
colours and sizes.
They are in a dormant condition 
until they receive adequate sunlight, 
water, and soil.
The growth of the plant from a seed 
is known as germination.

69.	 Option (3) is correct.
Explanation: Tulsi is a medicinal 
herb that doesn’t have nitrogen 
fixing bacteria in its roots.
Note: Nitrogen fixation is the 
conversion of complex nitrogenous 
compounds into simple substances 
for better absorption i.e. nitrogen 
(N2) into Ammonia.
Nitrogen cycle:
n	 It is a biogeochemical cycle.
n	 It transforms inert nitrogen in the 

atmosphere into nitrogen that is 
beneficial to plants and animals.

Nitrogen fixation:
n	 Nitrogen is a limiting nutrient 

for both natural and agricultural 
ecosystems.

n	 Nitrogen exists as two nitrogen 
atoms joined by a very strong 
triple covalent bond (N≡N).

n	 The process of conversion of 
nitrogen (N2) to ammonia is 
termed nitrogen fixation.

70.	 Option (2) is correct.
Explanation: Venation is defined 
as arrangement of veins and the 
veinlets in the leaf. It is of two types 
i.e. reticulate venation and parallel 
venation.
The part of the leaf by which it 
is attached to the stem is called a 
petiole.
The broad, green part of the leaf is 
called the lamina.
The lines on the leaf are called veins.
These give support and transport 
water and minerals through the leaf.
A prominent line in the middle of 
the leaf is called the midrib.
The design made by veins in a leaf is 
called leaf venation.
If this design is net-like on both 
sides of the midrib, the venation is 
reticulated.

71.	 Option (2) is correct.
Explanation: Fossil fuels are 
those fuels which are formed by 
decomposition of dead and decaying 
matter over millions of years ago. 
They are a non-renewable sources 

of energy like coal, petroleum and 
natural gas.
Here, wood is a natural resource and 
is used as a domestic and industrial 
fuel for its availability and being less 
expensive than other fuels.

72.	 Option (4) is correct.
Explanation: Conventional resources 
are those resources which will get 
exhausted one day. They are non-
renewable resources and also may 
take a large span of years to remake 
like coal, petroleum etc. Here, fossil 
fuel is a conventional source of 
energy.
n	 Solar energy, tidal energy, 

geothermal energy are non-
conventional sources of energy 
as they can never be exhausted.

73.	 Option (4) is correct.
Explanation: Loss of water in the 
form of vapour from the aerial parts 
of the plant is called transpiration. It 
is the stomata which is present inside 
the leaves for the intake of carbon 
dioxide and the loss of water. Rate 
of transpiration is affected by light, 
temperature, humidity and wind.

74.	 Option (3) is correct.
Explanation: Species of flora and 
fauna that can be found in particular 
areas are known as endemic species. 
For example, Himalaya may apple 
is a medicinal plants for usage of 
its roots can be found in higher 
attitudinal regions like North India, 
Pakistan, Bhutan and Western China.
Note:
(i)	 Exotic species are those which 

are invaded and forms a negative 
effect on the environment.

(ii)	 Endangered species are those 
which are on the point of 
extinction.

75.	 Option (3) is correct.
Explanation: The planet which 
is smaller than earth in our solar 
system is Mercury.
On the basis of sodium, planets in 
ascending order are: Mercury, Mars, 
Venus, Earth, Neptune, Uranus, 
Saturn and Jupiter.
Planets:
n	 A celestial body moving in an 

elliptical orbit around a star is 
known as a planet.

n	 The planet of our solar system is 
divisible into two groups:

n	 Inner planets or terrestrial 
planets: they are made up of 
rocks and metals and relatively 
have high density. These are 
basically from the Sun to the 
asteroid belt.

n	 Outer planets or Jovian planets: 
Mostly constituting gas.

76.	 Option (1) is correct.
Explanation: According to the 
National curriculum framework 
2005 following are the objectives of 
EVS at primary level.
(i)	 To integrate EVS in a manner 

that it gets covered through 
language and math.

(ii)	 To develop curiosity about the 
natural environment.

(iii)	 To create awareness among 
learners for the improvement 
of the environment.

(iv)	 To critically address gender 
concerns and issues of 
marginalization.

77.	 Option (2) is correct.
Explanation: Integrated nature EVS 
at primary level includes/supports:
(i)	 concepts and issues of 

science, social science and 
environmental education are 
integrated.

(ii)	  looking at the environment in 
a holistic manner

(iii)	 theme based study
(iv)	 taking students for a trip
(v)	 providing real-life examples

78.	 Option (1) is correct.
Explanation: For EVS learning, it is 
important that students:
(i)	 learn through experiencing it
(ii)	 learn from concrete to abstract
(iii)	 known to unknown
(iv)	 learn about contextual nature 

of EVS
(v)	 involving all the students for 

learning
79.	 Option (2) is correct.

Explanation: For EVS textbook 
syllabus, there is a theme that 
consists of six topics those are as 
follows:
n	 Family and friends, consists of 4 

sub themes
n	 relationships
n	 work and play
n	 animals
n	 plants
n	 food
n	 water
n	 shelter
n	 travel
n	 things we make and do

80.	 Option (3) is correct.
Explanation: Topic ‘Sunita in 
space‘ of EVS textbook of NCERT 
is based on real peoples and their 
experiences as it talks about the 
happenings in space that occurs to 
them for example not being able to 
walk and just floating around.
Sunita’s experiences of living in 
space:
n	 We could not sit in one place. 

We kept floating in the spaceship 
from one end to another.

n	 Water too doesn’t stay in one 
place. It floats around as blobs. 
To wash our faces or hands we 
had to catch these blobs and wet 
paper with them.

n	 We ate very differently there. 
The real fun was when all of us 
would float into the dining area 
of the spaceship and catch the 
floating food packets!

n	 In space, there was no need 
to use a comb. My hair kept 
standing all the time!
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n	 Not being able to walk, we had to 
get used to floating around.

n	 We had to learn to do simple 
things differently. To stay in one 
place, we had to strap ourselves 
there. Papers also had to be stuck 
to the wall of the spaceship. It 
was a lot of fun living in space 
but it was also difficult.

n	 All of the above-mentioned 
points are according to the real-
life experiences of Sunita. Hence 
"Sunita in space" is based on real 
people and their experiences.

81.	 Option (1) is correct.
Explanation: The topic that gets 
connected to real life situations and 
day to day activities of children will 
have more impact on learning of the 
children. Here, addressing the issue 
of spoilage and wastage of food is 
from the topic “wastage of food“ in 
which interaction with family and 
learning to  preserves of food from 
them will be more impactful.
Sharing family experiences and 
interaction with a person involved 
with food preservation
EVS has many topics and concepts 
which are learned through many 
learning resources. The learning 
resources depend on the topic that 
is being taught.

82.	 Option (1) is correct.
Explanation: In EVS, a teacher can 
induce a cleanliness  drive‘ in school 
under project work as it will help 
in diverse skills. Through group 
project based learning, children 
tends to develop various skills such 
as co-operation, problem solving, 
analyzing understanding etc.
Project work: It is an educational 
method in which students working 
alone or in groups, analyze a real-
life problem or address a current-
day theme within a set time limit 
working independently and with 
clearly defined task divisions.
It provides extensive hands-on 
experience with the problem that 
the project is focused on.
Projects are typically made in groups 
so that the students can learn 
diverse skills such as cooperation, 
problem-solving, making decisions, 
and investigating.
As a result, they are referred to as 
group project-based learning.
Hence, we conclude that a teacher 
can induce a cleanliness drive in 
school under project work.

83.	 Option (3) is correct.
Explanation: ‘Blow that, blow cold‘ 
was a story by Zakir Hussain which 
is taught in primary classes to:
(i)	 understand the process of 

breathing
(ii)	 provide hand on experience
Understanding of the process of 
breathing at the primary level.
Stories can be used to explain and 
illustrate abstract ideas or concepts 

in a way that makes them accessible 
and attainable.

84.	 Option (1) is correct.
Explanation: Formative assessment 
is the assessment taken throughout 
the session in which it focuses on 
scholastic as well as non-scholastic 
areas. It provides quantitative 
and qualitative progress of the 
students. It provides continuous 
and comprehensive evaluation of 
the students. It works upon every 
prospect of the learner inside or 
outside the classroom.
Address the quantitative & 
qualitative progress of the students.
Formative assessment refers 
to a range of approaches used 
by teachers to assess students' 
comprehension, learning needs, 
and academic progress during a 
lesson, unit, or throughout course. 
It includes unit tests, monthly tests, 
quarterly tests, etc.

85.	 Option (1) is correct.
Explanation: Providing detailed 
information about children including 
academic and non-academic 
development in day-to-day activities 
is written in anecdotal records. It 
helps in arranging suitable activities 
and lesson plans on the basis of 
interest of the students.
Assessment tools are the 
techniques used for determining 
a student's academic talent and 
aptitude in a subject. They assist 
students in identifying methods 
for strengthening their academic 
fluency and improving their learning 
experience. It includes rating scales, 
checklists, anecdotal records, etc.

86.	 Option (3) is correct.
Explanation: Indicates for 
assessment in EVS includes:
Analysis, discussion, experimenta-
tion, explanation, questioning, 
expression, cooperation, observation, 
classification etc.
Assessment is the process of 
gathering, interpreting, recording, 
and using information about a 
learner's response to an educational 
task.
It helps in diagnosing the gaps 
in realizing the objectives of EVS 
and taking necessary measures to 
provide feedback to students about 
their progress and also motivating 
and guiding them in future learning.

87.	 Option (1) is correct.
Explanation: EVS learning is directly 
connected to how things actually 
work and how they interact with 
the environment. Different students 
have different interests and from 
separate, distinguished, diversified 
cultures and to adhere all the 
students equally and providing 
opportunity to all.
provide opportunities to students 
for their learning

Environmental studies aid children 
in comprehending how things work 
and interact in their environment. At 
the primary level, it is an integrated 
subject area that incorporates 
knowledge from science, social 
science, and environmental 
education. 

88.	 Option (1) is correct.
Explanation: EVS learning in 
primary classes is done mainly by 
language and math only. Here, 
the teacher engages students in 
attractive, interesting poems and 
stories where they are also getting 
information or knowledge of EVS 
concepts in the background. It is 
the best way to teach EVS with 
burdening learners and providing 
contextual learning in a creative 
way. It arouses interest among 
students which keeps them active 
throughout the session/class.
Teaching-learning resources also 
known as teaching-learning 
material are any collection of things, 
including animate and inanimate 
objects, human and non-human 
resources that will help to achieve 
desired learning objectives.

89.	 Option (1) is correct.
Explanation: EVS textbooks provide 
knowledge about the environment, 
facts, happenings which can also 
be taken through members of the 
community such as family, friends,  
neighborhood etc. This is also 
known as experiential learning 
where students are learning from 
their community members. It creates 
to learn in real life situations with 
real examples told by them. It 
shortens the gap of real and virtual 
knowledge.
Members of the community: 
Teaching-learning resources also 
known as teaching-learning material 
(TLM) are any collection of things, 
including animate and inanimate 
objects, and human and non-human 
resources that will help to achieve 
desired learning objectives.

90.	 Option (1) is correct.
Explanation: Portfolio is a kind of 
written documents on books  on a 
student's works which is done over 
a specific period of time. It helps 
teachers to analyze the progress of 
the students and remedies for the 
mistakes made by them. In an EVS 
classroom, portfolio assessment 
will be enjoyed by the students as 
it will allow students to perform 
creatively and act according to their 
own behavior  and knowledge. 
It ensures quality learning over a 
period of time. It ensures every 
learner is active in the classroom 
and promotes divergent and 
independent thinking.
Assessment is the process of 
gathering, interpreting, recording, 
and using information about 
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learners' responses to an educational 
task.
It helps in diagnosing the gaps 
in realizing the objectives of EVS 
and taking necessary measures to 
provide feedback to students about 
their progress and also motivating 
and guiding them in future learning.   

Language: Hindi

91.	 fodYi (1) mfpr gSA
O;k[;kµ^ftuds vius dksbZ [k.Mgj ugha* 
js[kkafdr 'kCn ls vk'k; bfrgkl ls gSA bl 
x|ka'k esa ys[kd us dgk gS fd eSa vDlj 
lksprk gw¡ fd os 'kgj fdrus nqHkkZX; gSa] 
ftuds vius dksbZ [k.Mgj  gh ughaA muesa 
jguk mruk gh Hk;kud vuqHko gks ldrk gS] 
tSls fdlh ,sls O;fDr ls feyuk] tks viuh 
Le`fr [kks pqdk gS] ftldk dksbZ vrhr ughaA
bfrgklµ
vFkZµO;fä] lekt] ns'k dh egÙoiw.kZ] 
fof'k"V ,oa lkoZtfud {ks= dh ?kVukvksa 
dk dkyØe ls fy[kk gqvk fooj.k] rF;ksa 
?kVukvksa dk dky Øekuqlkj foospuA
orZekuµ
vFkZµmifLFkr] çLrqr] fo|eku] ekStwnA
foykse 'kCnµ^Hkwr*
fo'ks"k.k 'kCn
vfLrRoµ
vFkZµlÙkk] otqn] fo|ekurk] mifLFkfr] 
ekStwnxhA

92.	 fodYi (2) mfpr gSA
O;k[;kµ^'kgj ds nwljs ?kjksa esa pyk 
tkrk gw¡A* nwljs ?kjksa ls ys[kd dk vk'k; 
,sfrgkfld bekjrksa ls gSA bl x|ka'k esa 
ys[kd us dgk gS fd tc orZeku dk cks> 
vlá gks] eSa viuk ?kj NksM+dj 'kgj ds 
nwljs ^?kjksa* esa pyk tkrk gw¡µ tgk¡ vc dksbZ 
yksx ugha jgrs&tgk¡ v¡èksjk gksrs gh pexknM+ 
vkrs gSaA ;s gekjs 'kgj esa [k.Mgj gSaA
fe=&
vFkZµl[kk] lgpj] Lusgh] Lotu] lqân;] 
lkFkh] nksLr] laxhA
?kjµ
vFkZµx`g] fudsru] Hkou] vky;] fuokl] 
lnu] vkokl] fuy;] èkkeA
lM+dµ
vFkZµiFk ] jkg ] ekxZ ] jkLrk] MxjA
vLFkk;hµv + LFkk;h = vLFkk;h
^v* (ugha) milxZ vkSj ^LFkk;h* ewy 'kCn
vFkZµtks vfèkd fnu ;k le; rd jgusokyk 
u gks] vfLFkjA
foykse 'kCnµ^LFkk;h*
,sfrgkfldµbfrgkl + bd = ,sfrgkfld
^bfrgkl* ewy 'kCn vkSj ^bd* çR;;
vFkZµbfrgkl ls lacaèk j[kusokyk
foykse 'kCnµ^vuSfrgkfld*
fo'ks"k.k 'kCn
bekjrµ
vFkZµegy ] edku] dksBjh] gosyh

93.	 fodYi (3) mfpr gSA
O;k[;kµys[kd dk ekuuk gS fd os 'kgj 
nqHkkZX; gSa ftuds vius dksbZ [k.Mgj gh ughaA 
muesa jguk mruk gh Hk;kud vuqHko gks 
ldrk gS] tSls fdlh ,sls O;fDr ls feyuk 
tks viuh Le`fr [kks pqdk gS] ftldk dksbZ 
vrhr ughaA
Le`frµ
vFkZµ;kn] Lej.k] vuqLej.k] nksckjk ;kn 
fnykukA
foykse 'kCnµ^foLe`fr*
orZekuµ
vFkZµmifLFkr] çLrqr] fo|eku] ekStwnA
foykse 'kCnµ^Hkwr*
ladVµ
vFkZµfoink] vkQr] vkifÙk] eqlhcr] 
vkinkA
foykse 'kCnµ^vladV*

94.	 fodYi (2) mfpr gSA
O;k[;kµys[kd us dgk gS fd vxj eq>ls 
dksbZ ujd dh ifjHkk"kk iwNs rks og gS] ges'kk 
orZeku esa jguk ,d varghu jks'kuh] tgk¡ 
dksbZ Nk;k ugha tgk¡ vkneh ges'kk vk¡[ksa 
[kksys jgrk gSA
LoIuµ
vFkZµuhan esa vopsru eu dh dYiuk] 
liuk] [kÛ~okc] (Mªhe)
foykse 'kCnµ^tkxj.k*
orZekuµ
vFkZµmifLFkr] çLrqr] fo|eku] ekStwnA
foykse 'kCnµ^Hkwr*
?kjµ
vFkZµx`g] fudsru] Hkou] vky;] fuokl] 
vkokl] fuy;] èkkeA
vk¡[kµ
vFkZµykspu] vf{k] u;u] us=] p{kq] n`x] 
vf{k] nhnk ] p[k] uSu

95.	 fodYi (3) mfpr gSA
O;k[;kµ^orZeku esa jgus* ls vk'k; 
,sfrgkfldrk dk vuqHko u djuk gS D;ksafd 
ges'kk orZeku esa jguk ,d varghu jks'kuh] 
tgk¡ dksbZ Nk;k ugha] tgk¡ vkneh ges'kk 
vk¡[ksa [kksys jgrk gSA
iwoZtµ
vFkZµftldh mRifÙk ;k tUe iwoZtUe esa 
vFkok fdlh ds iwoZ ;k igys gqvk gksA cki] 
nknk ijnknk vkfn iwoZ iq#"kA
Hkfo";µ
vFkZµvkusokyk le;] orZeku ds ckn 
vkusokyk dkyA
fparkµ
vFkZµè;ku] fQØ] lksp] Ågkiksg] ijokg] 
fopkj] jat] nq%[kA
vuqHkoµ
vFkZµrtqckZ] vuqHkwfr] vkichrh] 
laosnu'khyrk] bafæ;cksèk] 'kfä] laosnu] 
laosnukA
foykse 'kCnµ^vuqHkoghu*

çfrfnuµ
vFkZµçR;sd fnu] gj jkst
fØ;k fo'ks"k.k

96.	 fodYi (3) mfpr gSA
O;k[;kµ^tgk¡ vkneh ges'kk vk¡[ksa [kksys 
jgrk gSA* okD; esa ekè;e esa jkr esa txus 
dh vksj ladsr fd;k gSA
foJkeµ
vFkZµQqlZr] ekSdk] vkjke] jkgr] djkj] 
lqdwu
foykse 'kCnµ^ifjJe*
O;k;keµ
vFkZµdljr] vH;klA
jkrµ
vFkZµjkf=] jSu] jtuh] fu'kk] ;kfeuh] reh] 
fuf'k] ;kek] foHkkojhA
uhanµ
vFkZµfuæk] 'k;u] lqfIr] raæk] lqIrkoLFkk

97.	 fodYi (3) mfpr gSA
O;k[;kµ^tgk¡ v¡èkdkj gksrs gh pexknM+ 
vkrs gSaA* ys[kd dgrk gS fd tc orZeku 
dk cks> vlá gks] eSa viuk ?kj NksM+dj 
'kgj ds nwljs ^?kjksa* esa pyk tkrk gw¡µtgk¡ 
vc dksbZ yksx ugha jgrsµtgk¡ vaèksjk gksrs gh 
pexknM+ vkrs gSaA
çdk'kµ
vFkZµT;ksfr] ped] çHkk] Nfo] nhfIr] 
jks'kuh] mtkyk] vkyksd
foykse 'kCnµ^vUèkdkj] re*
,dkUrµ
vFkZµvdsyk] futh] 'kkar] vyxA
foykse 'kCnµ^HkhM+*
fo'ks"k.k 'kCn
'kkfUrµ
vFkZµlqdwu] veu] vkjke] pkSu] lq[k] 
rlYyh
foykse 'kCnµ^v'kkafr*

98.	 fodYi (2) mfpr gSA
O;k[;kµbuesa ls Hkqtax 'kCn fHkUu gSA Hkqtax 
'kCn fo'ks"; gS tcfd Hk;kud] Hk;adj vkSj 
Hkkoqd 'kCn fo'ks"k.k gSaA
fo'ks"k.kµlaKk vFkok loZuke dh fo'ks"krk 
crkus okys 'kCnksa dks fo'ks"k.k dgrs gSa 
tSlsµdkyk] eksVk] iryk bR;kfnA
fo'ks";µfo'ks"k.k 'kCn ftl laKk ;k loZuke 
'kCn dh fo'ks"krk crkrk gS] mls fo'ks"; dgrs 
gSaA
fo'ks"k.k ds çdkjµ
(i)	 xq.kokpd fo'ks"k.k
(ii)	 la[;kokpd fo'ks"k.k
(iii)	 ifjek.kokpd fo'ks"k.k
(iv)	 lkoZukfed fo'ks"k.k
Hkqtax dk vFkZµliZ] lk¡i] vfg] 'ks"kukx] 
ukx] O;ky] Q.kh'k] lkjaxA
Hk;kud dk vFkZµHk;adj] Mjkouk] vkradiw.kZ] 
[kÛkSQukd] mxz] Hk; mRiUu djus okykA
Hkkoqd dk vFkZµlkspus&le>usokyk] Hkkouk 
djusokyk] Hkkoksa ds o'khHkwr gksusokyk (O;fä)A
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99.	 fodYi (2) mfpr gSA
O;k[;kµos 'kgj fdrus nqHkkZ;iw.kZ gSa\ 
ys[kd crkrk gS fd eSa vDlj lksprk gw¡ 
fd os 'kgj fdrus nqHkkZX; gSa] ftuds vius 
dksbZ [k.Mgj gh ughaA muesa jguk mruk gh 
Hk;kud vuqHko gks ldrk gS] tSls fdlh ,sls 
O;fDr ls feyuk tks viuh Le`fr [kks pqdk 
gS] ftldk dksbZ vrhr ughaA
nqHkkZX;µnqj~ + HkkX; = nqHkkZX;
^nqj~* (dfBu@xyr) milxZ vkSj ^HkkX;* 
(fdLer) ewy 'kCn
vFkZµcnµfdLerh] cqjk HkkX;A
foykse 'kCnµ^lkSHkkX;] HkkX;*
lafèk foPNsnµ^nqj~ + HkkX;* (folxZ lafèk)
nqHkkZX;iw.kZµ
nqj~ + HkkX; + iw.kZ = nqHkkZX;iw.kZ
^nqj~* (dfBu@xyr) milxZ] *HkkX;* (fdLer) 
ewy 'kCn vkSj ^iw.kZ* çR;;
vFkZµnqHkkZX; ;k cqjs HkkX; ls iw.kZ
nq[knµ
vFkZµnq[k nsus okyk] vfç;] d"Vdkjh] tks 
d"V igq¡pkrk gks
foykse 'kCnµ^lq[kn*
fo'ks"k.k 'kCn

100.	 fodYi (4) mfpr gSA
O;k[;kµ^eSa rks rsjs ikl esa* js[kkafdr 'kCn 
bZ'oj ds fy, ç;qDr gqvk gSA bZ'oj rks 
lcds ikl gS] mls rqe dgk¡ <w¡< jgs gks\
euq";µ
vFkZµiq#"k] uj] tu] euqt] erZ~;] ekuoA
dfoµ
vFkZµdkO; dh jpuk djusokykA
iqfYyax
^dfo* dk L=hfyax :i ^dof;=h*
èkkfeZdµèkeZ + bd = èkkfeZd
^èkeZ* ewy 'kCn vkSj ^bd* çR;;
vFkZµèkeZ'khy] iq.;kRek] èkeZ lacaèkhA
foykse 'kCnµ^vèkkfeZd*
fo'ks"k.k 'kCn
bZ'ojµ
vFkZµijefirk] ijekRek] çHkq] bZ'k] txnh'k] 
Hkxoku] ijes'oj] txnh'oj] foèkkrkA

101.	 fodYi (1) mfpr gSA
O;k[;kµdfo ds vuqlkj bZ'oj dks èkkfeZd 
LFkyksa esa ugha ik;k tk ldrk D;ksafd og 
çR;sd çk.kh esa fuokl djrk gSA çR;sd tho 
dh 'okl esa bZ'oj gS vkSj euq"; bZ'oj dks 
vU; LFkyksa ij <w¡< jgk gSA
çk.khµ
vFkZµthoèkkjh] çk.kèkkjh] tkuoj] tho] 
çk.kokuA
fo'ks"k.k 'kCn
deZdkaMµ
vFkZµiwtk] ;K vkfn ls lacafèkr èkkfeZd 
deZA
,slk 'kkL= ftlesa èkkfeZd deks± ds lEiknu 
dh fofèk;k¡ fy[kh gksaA

rhFkZLFkyµ
vFkZµèkkfeZd vkSj vkè;kfRed egÙo okys 
LFkkuksa dks dgrs gSaA
lekl foxzgµrhFkZ djus dk LFky (rRiq#"k 
lekl)
oSjkX;µ
vFkZµlkalkfjd caèkuksa ls foeq[krk] lq[kHkksxksa 
ls gksus okyh fojfä] vuklfäA

102.	 fodYi (3) mfpr gSA
O;k[;kµdfo ds vuqlkj bZ'oj rqjUr 
lefiZr HkDr dks fey ldrk gSA lefiZr 
HkDr gh bZ'oj dks Lo;a esa [kkstus dk ç;kl 
djrk gSA 
fo}kuµ
vFkZµf'kf{kr O;fä] tkudkj ;k iafMr 
O;fäA
iqfYyax 'kCn
^fo}ku* dk L=hfyax 'kCn gS ^fonq"kh*A
lTtuµ
vFkZµvPNk vkneh] egku] lEekutud] 
'kjhQA
lafèk foxzgµlr~ + tu (O;atu lafèk) r~@
n~ + t = Tt
foykse 'kCn& ^nqtZu*
lefiZrµ
le~ + vfiZr = lefiZr
^le~* (vPNh rjg) milxZ vkSj ^vfiZr* ewy 
'kCn
vFkZµleiZ.k djuk] viZ.k djuk] çnku 
djuk] vknjiwoZd lkSaik x;k] vfiZrA
foykse 'kCnµ^vlefiZr*
eksg&
vFkZµvKku] ukle>h] ew[kZrk] csodwQhA
ek;kµ
vFkZµNy] Nyuk] çiap] çrkj.kk] baætky] 
diV] èkks[kk

103.	 fodYi (2) mfpr gSA
O;k[;kµ^<w¡<sa* 'kCn fØ;k gSA
fØ;kµ
(i)	 ftl 'kCn ds }kjk fdlh dk;Z ds djus 

;k gksus dk cksèk gksrk gS mls fØ;k 
dgrs gSaA

(ii)	 fØ;k vFkkZr~ dk;Z djukA
(iii)	 mnkgj.k ds fy, & cPps irax mM+k jgs 

gSA ^mM+kuk* ,d fØ;k gSA
fØ;k ds Hksnµ
(i)	 ldeZd fØ;k
(ii)	 vdeZd fØ;k
fØ;k fo'ks"k.kµ
ftu 'kCnksa ls fØ;k dh fo'ks"krk dk cksèk 
gksrk gS mUgsa fØ;kfo'ks"k.k dgrs gSaA
igpkuµde] T;knk] Hkkjh] gYdk] cgqr] 
vYi] rst èkhek] cjkcj]vkt] dy] ijlks] 
èkhjs&èkhjs] lgh] xyr] Bhd] vo'; vkfnA
tSlsµog èkhjs&èkhjs pyrk gSA
(bl okD; esa ^pyrk* fØ;k gS vkSj 
^èkhjs&èkhjs* mldh fo'ks"krk crk jgk gSA vr% 
^èkhjs&èkhjs* fØ;kfo'ks"k.k gSA)

laKkµfdlh tkfr] æO;] xq.k] Hkko] O;fä] 
LFkku vkfn ds uke dks laKk dgrs gSaA
igpkuµi'kq (tkfr)] lqUnjrk (xq.k)] O;Fkk 
(Hkko)] eksgu (O;fä)] fnYyh (LFkku)A
tSlsµeksgu tkrk gSA
fo'ks"k.k&tks 'kCn laKk ;k loZuke dh 
fo'ks"krk ¼xq.k] la [;k] ek=k ;k ifjek.k 
vkfn½ crkrs gSa fo'ks"k.k dgykrs gSaA
igpku& cM+k] dkyk] yEck] n;kyq] Hkkjh] 
lqanj] dk;j] Vs<+k&es<+k] ,d] nks] ohj iq#"k] 
xksjk] vPNk] cqjk] ehBk] [kêk vkfnA
tSls& xhrk lqanj gSA

104.	 fodYi (1) mfpr gSA
O;k[;kµ^lc Lok¡lksa dh 'okl esaA* dk 
vk'k; bZ'oj ds loZO;kih gksus ls gSA tc 
rd euq"; ds Hkhrj Lok¡l gS rc rd bZ'oj 
euq"; dh vkRek esa O;kIr gS vFkkZr~ bZ'oj 
euq"; ds gh Hkhrj gSA
bZ'ojµvFkZµijefirk] ijekRek] çHkq] bZ'k] 
txnh'k] Hkxoku] ijes'oj] txnh'oj] 
foèkkrkA
fuoklµvFkZµ?kj] edku] x`g] vky;] x`g] 
lnu] xsg] Hkou] èkke] fudsruA
loZO;kihµloZ + O;kih = loZO;kih
^loZ* (lc) milxZ vkSj O;kih ewy 'kCn
vFkZµgj rjQ QSyk gqvk] lcesa lek;k 
gqvkA
rhFkkZVuµvFkZµèkkfeZd mís'; ;k Hkfä ls 
ifo= LFkku ij n'kZu] iwtk vkfn ds fy, 
tkus dh fØ;k
rhFkZ;k=k] rhFkZHkze.kA

105.	 fodYi (1) mfpr gSA
O;k[;kµ^dkSuksa* dk vFkZ gSµ fdlh HkhA ;g 
,d loZuke gSA
loZukeµ
(i)	 ;g laKk ds LFkku ij ç;qDr gksrs gSaA
(ii)	 tSls& eSa] rqe] ge] og bR;kfnA
(iii)	 loZuke vFkkZr~ lcdk ukeA
loZuke ds Hksnµ
(i)	 iq#"kokpd loZuke
(ii)	 fu'p;okpd loZuke
(iii)	 vfu'o;okpd loZuke
(iv)	 lacaèkokpd loZuke
(iv)	 ç'uokpd loZuke
(v)	 futokpd loZuke
in ds vuqlkjµ
uk rks dkSuks fØ;k&dje esa] ukfg tksx cSjkx 
esaA
vFkkZr dfo us crk;k gS fd bZ'oj uk gh fdlh 
fØ;k deZ esa gw¡ vkSj uk gh ;K o oSjkX; esaA

106.	 fodYi (4) mfpr gSA
O;k[;kµekuo efLr"d esa lkoZHkkSfed 
O;kdj.k fu;eksa ds ,d lewg ds :i esa gksrh 
gSA ;g fopkj ukWe pkWeLdh }kjk çfrikfnr 
fd;k x;k gSA
ukWe pkWeLdhµ
(i)	 O;ogkjoknh fopkjd vkSj Hkk"kkfon FksA
(ii)	 buds vuqlkj ckyd esa O;kdj.k ,oa 

Hkk"kk dks lh[kus dh n{krk tUetkr 
gksrh gSA
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(iii)	 budk Hkk"kk fodkl fl¼kar 1959 esa 
çfrikfnr gqvkA

(iv)	 ckyd dh Hkk"kk esa vfèkxzg.k {kerk 
gksrh gSa] og 'kq:vkrh 5 o"kZ rd 
çHkko'khy gksrh gSA

ch-,Q- fLduj dk ekuuk Fkk fd cPps 
fØ;kRed vuqcaèku ds ekè;e ls Hkk"kk 
lh[krs gSa rFkk vuqdj.k vkSj iqucZyu Hkk"kk 
dk fodkl dk ifj.kke gSA
yso ok;xksRLdh us Hkk"kk dk 
lkekftd&lkaLÏfrd fl¼kUr fn;kA

107.	 fodYi (2) mfpr gSA
O;k[;kµcPps ds okLrfod fodkl rFkk 
fdlh nwljs dh lgk;rk ls dj ldus 
okys dke ds chp ds vUrj dks fodkl dk 
fudVLFk {ks= dgrs gSaA
ckbxksRLdhµ
(i)	 bUgksaus lkekftd&lkaLÏfr fl¼kUr 

dk çfriknu fd;kA
(ii)	 bl fl¼kUr dks fudV fodkl {ks= ds 

uke ls Hkh tkuk tkrk gSA
(iii)	 buds vuqlkj cPps dks vfèkxe 

djokus ;k mudk fodkl djus gsrq 
mfpr ekxZn'kZu dh vko';drk gksrh 
gSA

(iv)	 cPpksa dks ;g ekxZn'kZu lekt vkSj 
laLÏfr ls çkIr gksrk gSA

(v)	 buds vuqlkj cPpk lekt ds lkFk 
vUr%fØ;k djds viuk fodkl djrk 
gSA

,d lksfo;r euksoSKkfud] ^fyo ok;xksRLdh* 
us ßlkekftd&lkaLÏfrd fl¼karÞ dks 
çfrikfnr fd;k gSA ;g fl¼kar bl fopkj 
dks crkrk gS fd lkekftd var%fØ;k 
f'k{kkFkhZ dh laKkukRed {kerk ds fodkl esa 
egÙoiw.kZ Hkwfedk fuHkkrk gSA ok;xksRLdh ds 
lekt'kkL=h; fl¼kar ds vuqlkj] laLÏfr] 
lkekftd var%fØ;k (ftlesa uhps fn, x, 
rhu ?kVd gSa)] ftlesa Hkk"kk dh ijLij fØ;k 
ds dkj.k fodkl gksrk gSA
ok;xksRLdh ds vuqlkj]
fodkl dk fudVLFk {ks= ;k 'Zone of 
Proximal development (ZPD)µ
cPpk Lora= :i ls vkSj lgk;rk ds lkFk 
D;k dj ldrk gS ds chp dk varjA
,d f'k{kkFkhZ vius okLrfod fodkl ij D;k 
dj ldrk gS vkSj fdlh dh enn ls og D;k 
dj ldrk gS] blds chp varjA
cPps dks vdsys djus ds fy, dk;ks± dh lhek 
cgqr dfBu gS] ysfdu o;Ldksa vkSj vfèkd 
dq'ky lgdehZ dh enn ls laHko gSA
fdlh ds ekxZn'kZu esa f'k{kkFkhZ ds okLrfod 
fodkl Lrj vkSj mlds fodkl ds Lrj ds 
chp dh nwjhA
LdSQfYMax (ik<+)µ;g ,d ,slh çfØ;k 
dks lanfHkZr djrh gS] ftlds ekè;e ls 
vfèkxedrkZ dks y{; çkIr djus gsrq 
vfèkxe esa o`f¼ djus ds fy, vLFkk;h 
lgk;rk çnku dh tkrh gSA

vfèkd Kkr vU; (MKO)µ;g mPp dkS'ky 
Lrj vkSj f'k{kkFkhZ dh rqyuk esa voèkkj.
kkvksa dh csgrj le> okys O;fä dks lanfHkZr 
djrk gSA
vr% fu"d"kZ fudyrk gS fd cPps ds 
okLrfod fodkl rFkk fdlh nwljs dh 
lgk;rk ls dj ldus okys dke ds chp dk 
vUrj dks fodkl dk fudVLFk {ks= dgrs gSaA

108.	 fodYi (4) mfpr gSA
O;k[;kµcPpksa dh ekSf[kd Hkk"kk dks fodflr 
djus esa lgk;rk djus ds fy, muls 
ckrphr djuk çkjfEHkd lk{kjrk dk ,d 
egÙoiw.kZ ?kVd gSA
eq[; fcUnqµ
(i)	 lquus vkSj cksyus ds i;kZIr volj 

nsukA
(ii)	 :fp ls tqM+s fo"k;ksa dks nsukA
(iii)	 èofu ds fo'ks"k ladsrksa ds ckjs esa 

tkx:d djukA
Hkk"kk fodkl] lapkj] vkdfLed vkSj 
çkjafHkd lk{kjrk lquus] le>us] ekSf[kd@
cksyus ds dkS'ky vkSj ys[ku ds dkS'ky ij 
vkèkkfjr gSA vFkkZr çkjafHkd lk{kjrk ls 
vfHkçk; ckyd ds ekSf[kd dkS'ky ds fodkl 
rFkk ys[ku@iBu ds vkjEHk ls gSA

109.	 fodYi (4) mfpr gSA
O;k[;kµbuesa ls lac¼rk LFkkfir djuk 
'kCn laink fuekZ.k dh j.kuhfr ugha gSA
'kCn lainkµ
(i)	 'kCnksa dk Hk.Mkj gh 'kCn laink gSA
(ii)	 'kCnksa dk og lewg ftlls ckyd vFkZ 
dks le>rs gSaA
'kCn laink j.kuhfrµ
(i)	 o.kks± dh :ijs[kk cukukA
(ii)	 lUnHkZ esa 'kCnksa dks ifjHkkf"kr djukA
(iii)	 'kCn ds Hkkxksa dk fo'ys"k.k djukA
'kCn laink 'kCnksa dk os lewg gSa] cPps 
ftldk eryc tkurs gSaA le>dj mudk 
bLrseky djrs gSaA cPpksa dk 'kCn Hk.Mkj 
ftruk T;knk gksrk gS] mudks fdlh ikB dks 
i<+dj le>us esa mruh gh vklkuh gksrh gSA
'kCn laink ftruh vfèkd gksxh Hkk"kk mruh 
gh le`¼ ekuh tk;sxhA
fdlh Hkh fodflr ;k çxfr'khy Hkk"kk dh 
ewy fo'ks"krk gksrh gS fd mlesa fofoèk çdkj 
ds 'kCn tqM+rs tkrs gSaA fganh dh 'kCn laink 
dk oxhZdj.k fuEu vkèkjksa ij fd;k tk 
ldrk gSµ
lzksr dh n`f"V lsµrRle] rn~Hko] ns'kt] 
fons'kt
fuekZ.k ;k xBu dh n`f"V lsµ:<+'kCn] 
;kSfxd] ;ksx:<+
ç;ksx dh n`f"V lsµlekU;] ikfjHkkf"kd
ifjorZuh;rk dh n`f"V lsµfodkjh] vfodkjhA

110.	 fodYi (1) mfpr gSA
O;k[;kµys[ku ,d mRiknd dkS'ky gSA
eq[; fcUnqµ
(i)	 vius Hkkoksa rFkk fopkjksa dks vfHkO;Dr 

djukA

(ii)	 ekSfydrk dks çksRlkgu nsukA
(iii)	 vfHkO;fDr dkS'ky dks c<+kok nsukA
mRiknd dkS'ky dk vFkZ vfHkO;ä djus dh 
{kerk ds fodkl ls gS cPps ds vius fopkjksa] 
viuh le> dks nwljs ds lkeus O;ä djus 
dk dkS'ky gh mRiknd dkS'ky gSA
Hkk"kk f'k{k.k ds pkj çeq[k dkS'ky gksrs 
gSaµx`g.kkRed dkS'kyµ Jo.k (lquuk)] iBu 
(i<+uk)] mRiknd dkS'kyµokpu (cksyuk)] 
ys[ku (fy[kuk)A

111.	 fodYi (4) mfpr gSA
O;k[;kµbuesa ls d{kk esa f[kykSuksa dk dksuk 
cukuk eqfær@fyf[kr le`¼ ifjos'k ds 
fuekZ.k esa lgk;rk ugha djrk gSA
d{kk esa eqfær@fyf[kr le`¼ ifjos'kµ
(i)	 d{kk esa iBu&dksuk l`ftr djukA
(ii)	 nhokjksa ij dgkfu;ksa ds pkVZ yxkukA
(iii)	 d{kk esa fo|kfFkZ;ksa dh jpuk,¡ çnf'kZr 

djukA
eqfær le`¼ ifjos'k ;k fçaV le`¼ okrkoj.k 
ls vk'k; ,sls okrkoj.k ls gS tgk¡ ^cPpksa 
dks vius bnZ&fxnZ fp=] pkVZ] d{kk esa 
iBu dksuk] cky&lkfgR;] fo|kFkhZ }kjk 
fy[kh jpukvksa dk çn'kZu foKkiu] gksfM±Xl] 
dSysaMj] lwfp;k¡ vkfn ns[kus&i<+us ds volj 
feyrs gSa* D;ksafd cPps Hkk"kk rc csgrj rjhds 
ls lh[krs gSa tc Hkk"kk dk le`¼ ifjos'k gksA

112.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk vfèkxe esa ^cksèkxE; fuos'k* 
dk vFkZ cPpksa dks ,slh Hkk"kk;h volj 
miyCèk djkuk tks mudh Hkk"kk ls ,d Lrj 
Åij gSaA
eq[; fcUnqµ
(i)	 vUr%fØ;k ds ekè;e ls Hkk"kkbZ {kerk 

dks fodflr djukA
(ii)	 lajpukvksa dks lh[kus ds çkIr volj 

nsukA
(iii)	 ifjdYiuk fuekZ.k djus esa lgk;rk 

djukA
(iv)	 LVhQo ØS'ku Hkk"kk foKku ds ,d 

fo'ks"kK gSa] tks Hkk"kk vfèkxzg.k vkSj 
fodkl ds fl¼karksa esa fo'ks"kKrk j[krs 
gSaA

cksèkxE; fuos'kµle> fodflr djus ds 
fy, mi;ksx esa yk;h tkus okyh fofHkUu çdkj 
dh lkexzh dks cksèkxE; fuos'k dgrs gSA
LVhQu ØS'ku Hkk"kk foKku ds {ks= esa ,d 
fo'ks"kK gSa] tks Hkk"kk vfèkxzg.k vkSj fodkl 
ds fl¼karksa esa fo'ks"kKrk j[krs gSaA mUgksaus f}
rh; Hkk"kk vfèkxzg.k dk fl¼kar fn;k tks 
O;kid :i ls tkuk tkrk gS vkSj vPNh rjg 
ls Lohdkj fd;k tkrk gSA

113.	 fodYi (2) mfpr gSA
O;k[;kµa rFkk c lgh gSa rFkk b xyr gSA
lexz Hkk"kk mikxeµ
(i)	 lexz Hkk"kk mikxe cPps dh cukbZ 

orZfu;ksa ds ç;ksx dks çksRlkfgr djrk 
gSA
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(ii)	 lexz Hkk"kk mikxe jpukokn ij 
vkèkkfjr gSA

(iii)	 okD;ksa@'kCnksa dks lUnHkZ ds lkFk  
lEiw.kZrk esa i<+us vkSj le>us ds fy, 
çksRlkfgr djukA

(iv)	 vFkZ&fuekZ.k vkSj lkFkZd laokn ds 
fy, çksRlkfgr djukA

Hkk"kk dks lexzrk dh n`f"V ls ns[kus ij gh 
Hkk"kk ç;ksx esa vFkZ fuekZ.k dh çfØ;k cu 
ikrh gSA Hkk"kk dks VqdM+s esa i<+us ij okD; 
dk vFkZ xqe tkrk gSA
Hkk"kk f'k{k.k esa f'k{kd dk lexzrkoknh 
n`f"Vdks.k egÙoiw.kZ gksrk gSA
lexzrkoknh n`f"Vdks.k j[kus okyk f'k{kd 
Hkk"kk dks iw.kZ o vFkZiw.kZ okD; ds :i esa 
lh[kkuk vkjEHk djrk gSA
ckydksa dks muds iwoZ Kku ls tksM+us ds fy, 
muds lfØ; vuqHkoksa dks lk>k djus ds fy, 
dgrk gSA fQj mu vuqHkoksa ds ekè;e ls 
i<+uk vkSj fy[kuk fl[kkrk gSA tSls&
d{kk nks ds Hkk"kk f'k{kd }kjk ckydks }kjk 
dgh x;h [kkl ckr dks lhèks ';keiê ij 
fy[kus ds fy, dgrk gSA
f'k{kd ekud orZuh ;k orZuh dh 'kqírk ij 
è;ku dsafær uk dj vfHkO;fä ij] xzg.k 
djs vkSj Hkk"kk dks le>us ij è;ku dsafær 
j[krk gSA

114.	 fodYi (3) mfpr gSA
O;k[;kµ,d iBu lkexzh dks ckjhdh ls 
i<+us dk vFkZ fof'k"V lwpuk dks <w¡<uk gSA 
blfy, blesa xgurk ls iBu dh vko';drk 
gksrh gS] ftlls dksbZ eq[; fcUnq NwV u tk,A
ckjhdh ls i<+us dk lacaèk xgu iBu ls gksrk 
gS] ftldk vFkZ gS fdlh fo"k; oLrq dks 
xgjkbZ ls le>ukA
fo'ks"k rF;ksa dks le>us ds fy, xgu iBu 
dh vko';drk gksrh gSA
fdlh ikBî lkexzh esa fof'k"V rF;ksa ;k 
lwpuk dks <wa<us esa ;g iBu çfofèk ç;ksx esa 
yk;h tkrh gSA tSlsµlekpkj i= esa ukSdjh 
ds fy, foKkiu dks ckjhdh ls i<+uk] vius 
lSyQksu esa vius fç; fe= dk Qksu uacj 
ns[kukA
blds vUrxZr fo"k; ds Kku dks vkRelkr 
fd;k tkrk gSA

115.	 fodYi (2) mfpr gSA
O;k[;kµf'k{kkfFkZ;ksa ds fy, lLoj okpu gh 
mPpkj.k rFkk 'kCn laink fuekZ.k esa lgk;rk 
djrk gSA
eq[; fcUnqµ
(i)	 'kCn laink ls Hkk"kk çHkko'kkyh curh 

gSA
(ii)	 cPpksa ds Kku Hk.Mkj esa o`f¼ djukA
(iii)	 mPpkj.k ds }kjk lVhd okpu ij cy 

nsukA
(iv)	 lqlaxfBr okD;ksa ds ç;ksx ds fy, 

çsfjr djukA
'kCn laink 'kCnksa dk os lewg gSa] cPps 
ftldk eryc tkurs gSaA le>dj mudk 

bLrseky djrs gSaA cPpksa dk 'kCn Hk.Mkj 
ftruk T;knk gksrk gS] mudks fdlh ikB dks 
i<+dj le>us esa mruh gh vklkuh gksrh gSA
'kCn laink ftruh vfèkd gksxh Hkk"kk mruh 
gh le`¼ ekuh tk;sxhA
fdlh Hkh fodflr ;k çxfr'khy Hkk"kk dh 
ewy fo'ks"krk gksrh gS fd mlesa fofoèk çdkj 
ds 'kCn tqM+rs tkrs gSaA fganh dh 'kCn laink 
dk oxhZdj.k fuEu vkèkjksa ij fd;k tk 
ldrk gS&
lzksr dh n`f"V lsµrRle] rn~Hko] ns'kt] 
fons'kt
fuekZ.k ;k xBu dh n`f"V lsµ:<+'kCn] 
;kSfxd] ;ksx:<+
ç;ksx dh n`f"V lsµlekU;] ikfjHkkf"kd
ifjorZuh;rk dh n`f"V lsµfodkjh] vfodkjhA

116.	 fodYi (3) mfpr gSA
O;k[;kµthu fi;kts ds }kjk çLrkfor 
fd;k x;k gS fd cPps Hkk"kk lh[kus ds fy, 
vuqdwyu rFkk lek;kstu dk ç;ksx djrs gSaA
thu I;ktsµ
(i)	 laKkukRed fodkl fl¼kUr dk 

çfriknu fd;kA
(ii)	 ekuo cqf¼ dh çÏfr ij cy fn;kA
(iii)	 O;fDr ds fodkl esa mldk cpiu 

egÙoiw.kZ Hkwfedk vnk djrk gSA
(iv)	 O;fDr okrkoj.k ds rRoksa igpkurk 

gS vkSj çrhdksa dh lgk;rk ls mUgsa 
le>us dh dksf'k'k djrk gSA

laKkukRed fodkl dh voLFkk,¡µ
(i)	 laosfnd is'kh; voLFkk
(ii)	 iwoZ&lafØ;kRed voLFkk
(iii)	 ewrZ lafØ
(iv)	 vewrZ lafØ;kRed voLFkk
thu fi;kts fLoV~tjySaM ds ,d euksoSKkfud 
FksA ckydks esa cqf¼ dk fodkl fdl çdkj 
ls gksrk gS] ;g tkuus ds fy, mUgksaus vius 
Lo;a ds cPpksa dks viuh [kkst dk fo"k; 
cuk;kA cPps tSls tSls cM+s gksrs x,] muds 
ekufld fodkl lEcUèkh fØ;kvksa dk os cM+h 
ckjhdh ls vè;u djrs jgsA bl vè;;u 
ds ifj.kkeLo:i mUgksaus ftu fopkjksa dk 
çfriknu fd;k] mUgsa fi;kts ds ekufld ;k 
laKkukRed fodkl ds fl¼kar ds uke ls 
tkuk tkrk gSA

117.	 fodYi (2) mfpr gSA
O;k[;kµd{kk 1 dk dchj 'kkfUr 'kCn 
lqudj QkfUr] MkfUr] ekfUr tSls fujFkZd 
'kCn cksydj ets ysrk gSA og èoU;kRed 
tkx:drk fodflr dj jgk gSA
eq[; fcUnµ
(i)	 'kCnksa ds rqd feyuk vkSj mUgsa 

igpkuukA
(ii)	 y; dks igpkuukA
(iii)	 èofu mPpkj.k dk Kku gksukA
èoU;kRed tkx:drk ,d O;kid dkS'ky gS 
ftlesa ekSf[kd Hkk"kk dh bdkb;ksa tSls 'kCn] 
'kCnka'k vkSj 'kCnksa dh rqd feyus (rhymes) 
dh igpku vkSj gsjQsj djuk 'kkfey gSA 

ftu cPpksa esa èoU;kRed tkx:drk gksrh gS] 
os ekSf[kd Nanksa dks igpkuus vkSj cukus esa 
l{ke gksrs gSa] ,d 'kCn esa 'kCnka'kksa dh la[;k 
dks rkyh ctk ldrs gSa] vkSj ^iSlk* vkSj ^ek¡* 
tSlh çkjafHkd èofu;ksa okys 'kCnksa dks igpku 
ldrs gSaA fjEl (rhymes) tSls&^'kkfUr* dk 
fjEl (rhymes) ^QkfUr*] ^MkfUr*] ekfUr gSA
èoU;kRed tkx:drk cPpksa dks cksyh tkus 
okyh Hkk"kk dh èofu;ksa ds lkFk igpkuus vkSj 
dke djus nsrh gSA iwoZLdwyksa esa] bldk vFkZ 
gS fd rqdcanh okys 'kCnksa dks fudkyuk vkSj 
,d uke esa 'kCnka'kksa dh la[;k dh x.kuk 
djukA

118.	 fodYi (3) mfpr gSA
O;k[;kµd{kk esa fn, x, dk;Z ds :i esa 
d{kk III dk xhr dqN O;kdjf.kd =qfV;ksa ds 
lkFk okD; fy[krk gSA
f'k{kd }kjk ç;ksx dh çfØ;kµ
(i)	 xyfr;ksa dks js[kkafdr djukA
(ii)	 xyrh dh çÏfr fy[kdj f'k{kkfFkZ;ksa 

dks mUgsa lqèkkjus ds fy, dgukA
(iii)	 xyfr;ksa dk funku djus ds fy, 

Øfed pj.kksa dk çf'k{k.k nsukA
(iv)	 xyfr;ksa ds Bhd gh u djuk cfYd 

le>kuk Hkh pkfg,A
=qfV;ka LoHkkfod gSa vkSj lh[kus dh çfØ;k esa 
,d egÙoiw.kZ dne gS tks cPpksa dh lksp dks 
var–Zf"V nsrh gSA =qfV;k¡ cPpksa dh enn dk 
ekxZ r; djrh gS rFkk bls lh[kus dh çfØ;k 
dk ,d iM+ko Hkh dg ldrs gSaA

119.	 fodYi (3) mfpr gSA
O;k[;kµekè;e dh Hkk"kk esa fuiq.krk 
fodflr djus ds fy, ?kj dh Hkk"kk dk 
ç;ksx djuk ,d çHkko'kkyh j.kuhfr fl¼ 
gks ldrh gSA
cPpk ?kj ij lgt vkSj fuckZèk :i ls Hkk"kk 
ds lkFk var%fØ;k djrk gSA fo|ky; esa vkus 
ls igys cPpksa ds ikl Hkk"kk dk ,d vn~Hkqr 
[ktkuk gS ftldk Hkjiwj bLrseky mudh 
Hkk"kk lh[kus dh ço`fr dks c<+kok nsus] Hkk"kk 
dks le`¼ djus esa fd;k tk ldrk gSA cPps 
vius lkFk viuh Hkk"kk] vius vuqHko vkSj 
nqfu;k dks ns[kus dk viuk n`f"Vdks.k vkfn 
fo|ky; esa ysdj vkrs gSaA

120.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk dk O;kdj.k iBu lkexzh rFkk 
lajpukvksa dh igpku dks ,dhÏr djds 
vPNk lh[kk tk ldrk gSA
Hkk"kk dk O;kdj.kµ
(i)	 iw.kZ ,oa 'kq¼ Kku dks c<+kok nsrk gSA
(ii)	 fopkjksa dh mfpr vfHkO;fDr esa 

lgk;rk çnku djrk gSA
(iii)	 lajpukvksa dks igpkuus esa enn djrk 

gSA
(iv)	 Hkk"kk lEcfUèkr fu;eksa dk Kku djkrk 

gSA
(v)	 Hkk"kk dks lqfuf'pr O;oLFkk çnku 

djrk gSA
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O;kdj.k fdlh Hkk"kk ds cksyus rFkk fy[kus 
ds fu;eksa dh O;ofLFkr i¼fr gS vFkkZr~ 
O;kdj.k Hkk"kk dks O;ofLFkr djus dk dk;Z 
djrh gSA O;kdj.k f'k{k.k ls Hkk"kk esa 'kq¼rk] 
vuq'kklu] rFkk fLFkjrk vkrh gSA
Hkk"kk dk O;kdj.k lcls vPNk lh[kk tk 
ldrk gS&
n	 Hkk"kk dk iw.kZ ,oa 'kq¼ Kku çnku djdsA
n	 euksHkkoksa ,oa fopkjks dh 'kq¼ vfHkO;fä 

djdsA
n	 O;kdj.k Hkk"kk ds Li"V] fu;ec¼ rFkk 

ekud :i dh tkudkjh çnku djdsA
n	 iBu lkexzh rFkk lajpukvksa dh igpku 

dks ,dhÏr djdsA
n	 Hkk"kk dh çÏfr rFkk ç;ksx lEcafèkr 

vkèkkjHkwr fu;eksa dk Kku djk djA
n	 Hkk"kk esa ç;qä èofu;ksa] 'kCnksa rFkk okD;ksa 

dh jpuk ls lEcafèkr fu;eksa dk ladyu 
,oa fo'ys"k.k dj Hkk"kk dks lqfuf'pr 
O;oLFkk çnku djdsA

Language: English
121.	 Option (1) is correct.

Explanation: 
(i)	 A is true as it is clearly 

mentioned in the first 
paragraph of the passage that 
at least a third of the ice in the 
himalayas and the hindu bush 
region will melt this century. 
Here the word ‘melt’ suggests 
that something will be in liquid 
form again after freezing.

(ii)	 B is false as it states about the 
situation of glacier, making 
the Hindu Kush Himalaya 
region home to the world’s 
largest/highest peaks topped 
by Mount Everest. It didn’t 
mention about the effects of 
climate change.

122.	 Option (3) is correct.
Explanation: It is mentioned in the 
second paragraph of the passage 
that “vast glaciers make the Hindu 
Kush Himalaya (HKH) region home 
to the world’s highest peaks topped 
by Mount Everest.“

123.	 Option (1) is correct.
Explanation: 
(i)	 Option 1 i.e. implementation 

of the 2015 Paris climate 
Agreement will reduce using 
temperature is supported 
by evidence report by 210 
authors which is mentioned in 
paragraph four of the passage.

(ii)	 Option 2 i.e. the melting of 
the Himalayas will disrupt 
river flows is supported by the 
evidence from a study which is 
mentioned in paragraph 5 of 
the passage.

(ii)	 Option 3 i.e. climate change 
will severely affect people 
living in small island state is 
supported by the evidence 
from the paragraph five of the 

passage in which the study 
said about 250 million people 
living in the mountains, getting 
affected by disrupting rivers.

But no evidence is provided against 
option four.

124.	 Option (1) is correct.
Explanation: Paragraph 1 clearly 
states about the cause and effect of 
the thaw in the Himalayan region 
in which it mentioned that melting 
of ice will result in disrupting 
river flows vital for growing crops 
from China to India; caused by 
temperature rise in the area.

125.	 Option (2) is correct.
Explanation: “Bare“ means not 
covered by anything. For instance, 
in the paragraph 3 of the passage 
tells about the after effects of global 
warming in which frigid glacier will 
be soon converted in the “bare“ 
rocks.
So, “naked“ is most similar in 
meaning to the word “bare“ as used 
in the passage.

126.	 Option (2) is correct.
Explanation: “Harm“ means a 
damage or injury which is just 
opposite to the word benefit which 
means useful effect or advantage of 
something.

127.	 Option (4) is correct.
Explanation: 
(i)	 Here, the underlined word 

‘vital‘ is an adjective which 
is describing the noun. Vital 
means essential or necessary.

	 There are 8 parts of speech: 
noun, pronoun, verb, 
adjective, adverb, preposition, 
conjunction and interjection. 
They indicate how the words 
works within sentence.

(ii)	 Noun is a word that is used to 
identify a person, place, thing 
or idea.

(iii)	 Adverb is a word that modifies 
a verb, adjective, determiner, 
clause, preposition etc.

(iv)	 Pronoun is a word that are 
used as a substitute for a noun.

128.	 Option (3) is correct.
Explanation: “If we are late, they 
will be angry“ is the correct form 
for the sentences because the future 
‘will‘ is only used in main clause. 
The given sentence is an example 
of a conditional sentence. It is a 
first condition, which deasls in 
future speculation. The structure 
of the sentence in first condition is: 
If clause in simple present tense + 
Clasue 2 in simple future tense.

129.	 Option (2) is correct.
Explanation: From the first 
paragraph of the passage which 
states that Heaven seems to turn up 
when we least expect it, I gave up a 
good job in Delhi and came to live 
in a hill station; partly because I love 
mountains and forests and partly 

because I wanted to devote more 
time to writing, we can conclude 
that option 3 is correct.

130.	 Option (2) is correct.
Explanation: From the first 
paragraph of the passage, which 
clearly states that “I saw a tree, just 
one small, crocked tree shimmering 
in the distance and seeing it there 
all by itself, but growing stubbornly 
where other trees would not grow, I 
was filled with love and admiration 
for it“, we can conclude that option 
2 is correct.

131.	  Option (4) is correct.
Explanation: From the first 
paragraph of the passage which 
clearly mentioned that “i saw a 
tree, just one small, crooked tree 
shimmering in the distance and 
seeing it there all by itself, but 
growing stubbornly where other 
trees would not grow, I was filled 
with love and admiration. We can 
conclude that the small crooked tree 
was standing alone in the desert.“ 	

132.	 Option (3) is correct.
Explanation: The phrase ‘a bit of 
heaven‘ in paragraph 2 means 
something really unexpected as poet 
finds the tree who was standing 
alone in desert as a bit of heaven 
which makes him feels astonished 
and evoked strong feelings in him. 
He become amazed and astonished 
by that bliss of happiness.

133.	 Option (2) is correct.
Explanation: 
n	 “Twisted“ is the word that has 

the same meaning as the word 
“crooked“ in paragraph 2 of the 
passage.

n	 Crooked and twisted both mean 
that something is out of shape or 
not in it’s natural position.

n	 Ugly means unpleasant in 
appearance.

n	 Scary means something 
horrifying or frightening.

n	 Disturbing means causing feeling 
of worry or being upset.

134.	 Option (2) is correct.
Explanation: 
n	 Quick means doing something in 

a short duration of time or with 
speed.

n	 Gradual means developing by 
fine steps or changing slowly, 
which is opposite to the word 
“sudden“ in the passage which 
means changing fastly.

n	 Slow word suggests that 
something happening without 
much speed or not doing 
something immediately.

n	 Leisurely means unhurried or 
casually.

So, “gradual“ is the most appropriate 
opposite word in respect to the 
word “sudden“ of the passage.
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135.	 Option (2) is correct.
Explanation: The correct statement 
is: farmers and gardeners have been 
affected badly by the drought, as the 
word affected is a verb and usually 
an adverb is placed after the verb it 
is modifying. Ususllay adverbs that 
modify the adjectives come before 
the adjective. For example: He is 
badly injured by the car.

136.	 Option (3) is correct.
Explanation: Chomsky, father 
of modern linguistics, proposed 
that the innate capacity to acquire 
language is the output of unique 
features of the human biological 
inheritance. He also mentions that 
children’s brain makes them acquire 
and produce language on their own.

137.	 Option (2) is correct.
Explanation: Cooperative learning 
is an instructional method in which 
students work in small groups of 
learners and aim to improve their 
learning experience while focusing 
on common goals. Teacher’s role 
is to guide the students rather 
than just being a knowledge 
provider, promoting the success 
of each student while motivating 
the student. Cooperative learning 
also promotes support among the 
students, helping each other for 
better understanding of the skills 
and concepts.

138.	 Option (2) is correct.
Explanation: Recursive means 
breaking out the problems 
into simple terms for better 
understanding. Writing is a recursive 
process in which students create 
unique ideas for producing language 
through written text. It is the process 
of writing, to put abstract, thought, 
idea, concepts and knowledge into 
words. It enforces imagination to 
reality by being self-expressive and 
original. 

139.	 Option (4) is correct.
Explanation: A print rich 
environment in a class promotes 
learning language in a meaningful 
and fun-filled way. It enhances 
curiosity among students to 
learn new things. It also helps 
in developing reading skills. It 
develops interests of students when 
they are exposed to different forms 
of print such as labels, instructions, 
pictures, quotes, colours etc. Visual 
methods are the best way of 
developing interests.

140.	 Option (2) is correct.
Explanation: According to Stephen 
Kreshen, there are two fundamental 
approaches for language 
performance i.e. acquisition and 
learning. “Comprehensible input“ 
suggests that learners adopt 
language by experiencing it and 
understanding language which 
is above their recent level of 
competence. It is the process of 
learning or experiencing mother 
tongue first without any practice 
efficiently.

141.	 Option (3) is correct.
Explanation: An approach is a set 
of assumptions dealing with nature 
of language and language learning. 
It is based on constructivism which 
allows learners to self experience 
learning to perform any task. Whole 
language approach sees language 
as a complete process of writing, 
speaking, reading, and listening in 
an integrated manner.

142.	 Option (1) is correct.
Explanation: Skimming means 
reading selectively to get a general 
idea of what the topic is all about 
and also it takes place while reading, 
allowing to look for particular details 
to get the general idea of the text.
Scanning means quickly reading 
the text to find some particular 
information likewise we find words 
in a dictionary.

143.	 Option (1) is correct.
Explanation: Reading aloud to 
students helps in building the 
learners vocabulary and enhancing 
pronunciation. It builds confidence 
of the students. It increases interest, 
perceives attention of the listeners 
and also introduces students 
to the new words with correct 
pronunciation. The practice of loud 
reading also helps in tone, speed, 
emphasis, articulation, correct 
information etc.

144.	 Option (1) is correct.
Explanation: Assimilation means 
improving existing         knowledge 
of something new.
Accommodation is changing 
one's own beliefs or schemes to 
‘accomodate‘ the new information.
According to ‘Piaget‘ theory on 
language development, language 
is learnt through these two 
complementary activities. The 
theory also suggests that a child first 
creates mental structures and then 
forms new schemes where language 
development happens.

145.	  Option (2) is correct.
Explanation: In language classroom, 
a teacher readily transfers her 
concepts and skills to children with 
some modification. It promotes 
language learning as students 
readily listen to the teacher, try to 
imitate and attentively group all the 
information which are lately used or 
shown by them in one or other way.

146.	 Option (2) is correct.
Explanation: National Educational 
Policy (2020) ensures to improve 
educational results for better 
learning of the children, acquiring 
new skills rather than opting for rote 
technique. It focuses on achieving 
universal foundational literacy and 
numeracy in primary schools for 
lifelong learning.

147.	  Option (1) is correct.
Explanation: Story telling as a 
pedagogical tool helps students 
in maintaining their interest 
throughout the lesson. It encourages, 
creativity, fosters imagination power, 
develops language skill in an 
integrated manner. It also broadens 
their thought process.

148.	 Option (2) is correct.
Explanation: Integration of Toy 
Based Pedagogy in language 
learning can be done by setting up 
a toy corner in the classroom. Toys 
will generate interest of the students 
in the classroom, and they will learn 
best through play way method. It 
will help children think creatively 
in the world of toys, games, and 
activities based on the topics to be 
learned.

149.	 Option (4) is correct.
Explanation: Retelling the story 
mentioned/narrated by the teacher is 
the most suitable assessment activity 
for assessing learners ‘listening skills‘ 
as students will summarize or dictate 
the story in their own way now, 
which is required for better learning 
and appropriate assessment. It will 
check the pronunciation and fluency 
of the speakers, and may improve 
their communication skills.

150.	 Option (2) is correct.
Explanation: Menu cards allow 
students to use their creativity for 
language learning. It will connect 
students to daily life and promote 
understanding of the topics while 
focusing on the play way method, in 
which students indulge themselves 
actively to achieve the goals of 
learning.


